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1. The work function of metal A and B are in the
ratio 1:2. If light of frequencies f and 2f are incident
on the surface of Aand B respectively, the ratio of
the maximum kinetic energy of photo electrons
emitted will be (f and 2f both frequency greater
than threshold frequency of metal A and B)

OEES
@9 =2
(3)1:3
@)1:4

g
2. From the equation fan0= v_2’ one can obtain the

angle of banking g for a cyclist taking a curve
(the symbols have their usual meanings). Then, it
is

(1) Both dimensionally and numerically correct
(2) Neither numerically nor dimensionally correct
(3) Dimensionally correct only

(4) Numerically correct only

3. The temperature of the two outer surfaces of a
compounds slab, each of area A, consisting of two
materials having coefficients of thermal
conductivity K and 2K and thickness x and 4x,
respectively are T, and T, (T, > T,). The rate of
heat transfer through the slab, in a steady state is

A(T, - T, K
S

}f, with f, which equal to
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A cylinder containing an ideal gas is in vertical
position and has a piston of mass M that is able to
move up or down without friction. If the
temperature of gas is increased, then

(1) both pressure and volume of gas will change

(2) Only pressure will increase according to charle’s
law

(3) Volume will change but not pressure
(4) Pressure will change but not valume

A body of mass m is suspended from a string of
length I. What is minimum horizontal velocity that
should be given to the body in its lowest position
so that it may complete one full revolution in the
vertical plane with the point of suspension as the
centre of the circle

(1) v=2ig
@ v=.30g
@) v =3l
@ v=.5g

At 27°C, a gas is suddenly compressed such that
its volume becomes 1/8th original volume.
Temperature of the gas will be (y = 5/3)

(1) 420K
(2) 327°C
(3) 300K
(4) 927°C

A projectile projected at an angle 30° from the
horizontal has arange R. If the angle of projection
at the same initial velocity be 60°, then the range

will be
(MR
2) 2R
(3) Ri2
(4) R
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(3) 300K

(4) 927°C
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On increasing the temperature of a conductor, its
resistance increase because

(1) Relaxation time decreases
(2) Mass of the electrons increases
(3) Electron density decreases

(4) None of these

Electromotive force of a cell is a basically
(1) Force
(2) Power
(3) Work

(4) Current

C and Si both have same lattice structure, having
4 bonding electrons in each. However C is insulator
where as Si is intrinsic semiconductor. This is
because

(1) The four bonding electrons in the case of C lie in
the second orbit, whereas in the case of Sithey lie
in the third

(2) The four bonding electrons in the case of C lie in
the third orbit, whereas for Si they lie in the fourth
orbit

(3) In case of C the valence band is not completely
filled absolute zero temperature

(4) In case of C the conduction band is partly filled
even at absolute zero temperature

Zener diode is used for

(1) Rectification
(2) Stabilization
(3) Amplification

(4) Producing oscillation in an oscillator

Which represents NOR gate?
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To increase the current sensitivity of a moving coil
galvanometer, we should.

(1) decrease number of turns in coil
(2) decrease area of cross section of the coil
(3) increase torsional constant of spiral springs

(4) None of the above

The value of earthmagnetic field B,, = 0.3 gauss.
In this magnetic field a magnet is oscillating with
5 oscillation/min. To increase the oscillation of
magnet upto 10 oscillation/min. The value of earth
magnetic field increased by

(1) 0.3 gauss
(2) 0.6 gauss
(3) 0.9 gauss
(4) 0.12 gauss

A diminished virtual image can be formed only in
(1) Plane mirror

(2) Aconcave mirror

(3) A convex mirror

(4) Convex Lens

A thin equiconvex lens has focal length 10 cm and
refractive index 1.5. One of its faces is now silvered
and for an objet placed at a distance u in from of
it, the image coincides with the object. The value
ofuis

(1) 10 cm
(2) 5cm

(3) 20 cm
4) 15¢cm

A solid sphere, a hollow sphere and a ring are
released from top of an inclined plane (frictionless)
so that they slide down the plane. The maximum
acceleration down the plane is for (no rolling)

(1) solid sphere
(2) hollow sphere
(3) ring

(4) all same
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A bomb of mass 3m kg explodes into two pieces
of mass m kg and 2m kg. If the velocity of m kg
mass is 16 m/s, the total kinetic energy released
in the explosion is

(1) 192mJ

(2) 96 mJ

(3) 384 mJ

(4) 768 mJ

Time period of a satellite in a circular orbit of
radius R is ‘T’. Find the time period of another
satellite in a circular orbit of radius 4R

mT

(24T

36T

4)8T

The height upto which water will rise in a capillary
tube will be

(1) Maximum when water temperature is 4°C
(2) Maximum when water temperature is 0°C
(3) Minimum when water temperature is 4°C
(4) Same at all temperatures

An electron and a proton are set free in a uniform
electric field the ratio of their acceleration is

(1) unity

(2) zero

3

)

|

3

e

4 m

p

Atrain covers the first half of the distance between
two stations with a speed of 40 km/h and the other
half with 60 km/h. Then its average speed is

(1) 50 km/h
(2) 48 km/h
(3) 52 km/h
(4) 100 km/h
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An organ pipe P, closed at one end vibrating in
its first overtone and another pipe P, open at both
ends vibrating in its third overtone are in
resonance with a given tunning fork. The ratio of
the length of P, to that of P, is

(1) 8/3
() 3/8
(3) 1/2
@) 1/3

A suspended long metal wire is stretched a small
distance x by a load W in newton suspended at
the other end. Select the best answer out of the
following

(1) The loss is potential energy of the load W is equal
to the gain in energy of the wire in stretching a length
X

(2) The energy stored in the wire can be calculated
from the area between the force extension graph
and the extension axis

1
(3) The energy per unit volume stored in the wire EWX

(4) None of the above

If the radius of the wire is doubled, then the
breaking force If the breaking force for a given
wire is F

(1) 6F
(2) 4F
(3) 8F
@) F

At what temperature, the mean kinetic energy of
O, will be the same for H, molecules at - 73°C

(1) 127°C
(2) 527°C
(3) -73°C

(4) -173°C

In Young’s double slit experiment, the 10th
maximum of wavelength 1, is at a distance of y,
from the central maximum. When the wavelength
of the source is changed to A, 5th maximum is at
a distance of y, from its central maximum. The

" [VJ
ratio y2 1S.

2 ) 2
Ul @7,

A, A
® 2 @ 5
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In an oscillating LC circuit the maximum current
on the inductor is i. The current in the inductor
when the energy is stored equally between the
electric and magnetic fields is

(1) if2 2 /3
(3)iry2 (4) i

A coil is suspended in a uniform magnetic field,
with the plane of the coil parallel to the magnetic
lines of force. When a current is passed through
the coil it starts oscillating it is very difficult to stop.
But if an aluminium plate is placed near to the

coil, stops. This is due to

(1) Electromagnetic induction in the aluminium plate

giving rise to electromagnetic damping
(2) Development of air current when the plate is placed
(3) Induction of electric charge on the plate

(4) Shielding of magnetic lines of force as aluminium
is a paramagnetic material

Find the angular frequency of particle from given
equation : Where y = displacement and t = time

2

d’y
+9y =0
a2 Y
(1) 9/4 (2) 4/9
(3) 3/2 4)2/3

A car of mass 1000 kg negotiates a banked curve
aradius 90 m on africtionless road. If the banking

angle is 45° the speed of the car is

(1) 5 ms! (2) 10 ms™!

(3) 20 ms™! (4) 30 ms™!

A voltmeter of resistance 1000 ¢ is connected
across a resistance of 500 ¢ in the given circuit.
What will be the reading of voltmeter.

v
\vi
50002 500
(1) 1V 2)2V
3) 6V 4)4V
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33. A radioactive nucleus of mass M emits a photon | 33, MM & T WegierT Fifeen aﬁrci%[ v T BT
of frequency 1 and the nucleus recoils. The recoil IFeahola war 2 aur i 9iey e 21 gafie
energy will be : Fat BRI
(1) MczZ—hv (2) h2vu 2/ 2Mc? (1) MCZ—hU (2) hZUZI’ZMCZ
(3) zero @ hv () 9 4) hy

34. Aspherical portion has been removed from asolid | 34. ver &19 el @ ¢ Mellg HFT & M siEr =
sphere having Q charge distributed uniformly in ﬁﬁw M B Y Q A U IR &9 4 IR
its volume as shown in figure. The electric field R 2 o T & e Erel T W) R a9
inside the emptied space is : &1 A4 2
(1) zero energy where (1) qF M W T
(2) non-zero and uniform 2) v 9 3R Sk BRT
(3) non-uniform (3) IFIE =R
(4) zero only at its centre (4) v # T B

35. The half life of a radioactive sample are 30 years | 35. o—3cdsi-l 9 p—Ictoi & ford U WRAaRRg gered
and 60 years for a—emission and B-emission F J<€ Ag FI: 309 aur 60 21 gfe gfgesf
respectively. If the sample decays both by o—IEST T B—Bﬂﬁﬂ?ﬁiﬂ' 2RI U 91y faafeq star
o— emission and p— emission simultaneously, the 2 @ fra v qyarq gfies Pad o MA@
time after which, only one-fourth of the sample ;
remain is: .Eﬂﬁ -

1)10 2)20
(1)10 years (2) 20 years ) - @ o
(3)40 years (4) 45 years (3)40 (4)45
SECTION-B H|us-B

This section will have 15 questions. Candidate can | ¥ 15 | Tl e 1595 9

choose to attempt any 10 questions out of these 15 R F1sTEd = * ?ﬁé ‘ﬂ

questions. In case if candidate attempts more than 10939 L ghdr =1 g2 gdemrdl 109 s y= &1

10 questions, first 10 attempted questions will be .

considered for marking. IR a1 2 A v Y gY 9 10 9% &) = B
36. Acurrent carrying wire LN is bent in th form shown [ 36, e aREEY 9R LN & faa=aR s 1 2 1 59 aR &)

below. If wire carries a current of 10 A and it is
placed in a magnetic field of 5T which acts
perpendicular to the paper outwards then it will
experience a force.

" 1
101 315;71
T -c—G_:m —
4cm
I
(1) Zero (2) 5N
(3) 30N (4) 20N

FAN T & 49 5 AT D GHET THHIT &7 I
@ I 21 AR aR A a1 uRr 10 AS 99 39 W)
FW 99 HMI

(1) Zero
(3) 30N
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Susceptibility of Mg at 300 K is 4 2 10-°. The
temperature at which susceptibility will be
1.8x107° is

(1) 450K

(2) 200K

(3) 375K

(4) None of these

A galvanometer has a resistance of 3663 ohm. A
shunt S is connected across it such that (1/34) of
the total current passes through the galvanometer.
Then, the value of shunt is:

(1) 3663 Q
@) 1110
(3) 107.7 Q

(4) 35553 Q

A ray falls on a prism ABC (AB = BC) and travels
as shown in figure. The minimum refractive index
of the prism material should be

4
M) 3

@ J2

(3) 15 O

A wheel having moment of inertia 2 kg-m? about
its vertical axis, rotates at the rate of 60 rpom about
the axis. The torque which can stop the wheel’s
rotation in one minute would be

(1) EN—m
@) 3N-m

@) 7gN-m

@) ZEN-m
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42,

43.

Two point charges are kept at a certain distance
from one another. The graph represent the
variation of the potential along the straight line
connecting the two charges.

(1) g, and g both are positive and | qa > g |
(2) q, and gg both are negative and | gy |<| 0g |
(3) Both charges have opposite nature and | ga >/ gg |

(4) Both charges have opposite nature and | g |<| gg |

The figure shows an instantaneous profile of arope
carrying a progressive wave moving from left to
right, then

(a) the phase at A is greater the phase at B
(b) the phase at B is greater than the phase at A
(c) Aiis moving upwards

(d) B is moving upwards

y[

A /\BU—%K
(1)aandc (2) aandd
(3)bandc (4) bandd

Two block of mass 8 kg and 5 kg are connected by
a heavy rope of mass 3kg. Complete system is
accelerated upwards by 10 m/s? as shown in the
figure. The tension at the point ‘P’ will be

Bkg.
P -'{kg. a  10ms
Skg.

(1) 8ON

(2) 90N

(3) 160N

(4) 150N
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(Magc
3 bTcC

(2) agd

4 bad
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x
-~
=

g ng.Ll 10 m/s’

(1) 80N
(2) 90N
(3) 160N
(4) 150 N
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47.

48,

A charge Qs at rest and a person is moving with
speed v. The person will feel

1) Electric field

(1)
(2) Magneticfield
(3)

3) Both 1 and 2

(4) Noneofthe 10of 2

The potential difference V and the current | flowing
through an instrument in an ac circuuit of
frequency f are given by V = 5 cos ot volts and
| = 2 sin wt amperes (where @ = 2wf). The power
dissipated in the instrument is

(1) zero
) 10W
(3) 5W
@) 2.5 W

A tetra atomic gas is at heigher temperature the
maximum number of vibrational degree of
freedom that can be experienced by gas. (gas is

non linear)

(1) 6

(2) 1

(3)0

47

Assertion: Potentiometer is considered as a ideal

volt meter

Reason: Resistance of an ideal ammeter should
be zero.

(1) Ifboth assertion and reason are true and the reason

is the correct explanation of the assertion

(2) If both assertion and reason are true but reason is

not the correct explanation of the assertion
(3) If assertion is true but reason is false

(4) It the assertion and reason both are false

A wire of resistance 5 ohm connected to a battery
of potential 10 V. The current flow in the wire is
(1Y 5A

(2)4A

(3)2A

4 1A
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¥Eig T ?)

3)0
@7
yereh o : Fvaardl ) nest dieediieT AT S gehdr 21

FRT : Fed Iftex &1 gfedy 3= &1 =il

(1) Tfe IRy X SR S T8 2 3R FHROT YaFehue
T el TSI < 2

(2) 4T TR S HRT T a8 2 TR SReT e
T FET T 81 el =

(3) af? yerrae Wl € fabmg YT T 2
(4) T IR 3T HROT 241 T 2

5 39 IR & g a) @l 10V def 9 Jed ®
ar) o yarfea gy s

(1) 5A
@) 4A
3)2A
@) 1A




49,

50.

Two identical capacitors each of capacitance are
5uF charged to potential 2kV and 1 kV

respectively. The -ve ends are connected
together. When the +ve ends are also connected
together, the loss of energy of the system is

(1) 160J
) 0J
3)5J
(4) 1.25J

As shown in the figure, a magnet is moved with a
fast speed towards a coil at rest. Due to this induced
electromotive force, induced current and induced
charge in the coil are E, | and Q respectively. If

the speed of magnet is doubled, the incorrect
statement is :

—
S N

I

galvanometer

E increases
| increases
Q remains the same

Q increases

49,

50.

< sweq wuifty, R u=de 9 ufkar 5uF 21 s
2 kV w1 kv g o R fFe oe 21 =
&R oo a9y Siie R 9 ?)1 9 aFee TR o o
9 Siis fov Wi 2, a9 e o1 el 4 =i 2

wﬁw.wwﬁﬁw FaeAT ¥ S ot
AR g 37 A 9o w1 21 R e aww 5= @ =
e ura i IRa FRT w9 E, sk 3k g
T 39 2 AT & WA, 99 i BLHT B

—>
S N
m
galvanometer
(1) Esewm
(2) ls=m
(3) Qua WRF @I

(4) QW




TOPIC : FULL SYLLABUS (MODEL)

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, 5=32, CI=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, I=127, Ba=137, Au=197

S-S bond :
(1) §,0,7,8,07~

46

(3) S.0.2.8,07

476 ?

) $,07,8,0.7

2-F ¥

4) 8,07,8,0%

277

SECTION-A HUs-A
Attempt All 35 Questions ¥ 3593 e 21
51. Given below are two statements : 5. et wydReaed:
Statement | : YA | :
Acetophenone shows aldol condensation SR Yeald 99+ TeRia war =1
Statement Il : = Il -
Acetophenone contains Carbonyl group BN o FEiRe e Aar 21
e o e | S & ok A3 o e e 2
below : 4l S9gad 3o &l 99 Silhe
(1) Both Statement | and Statement Il are incorrect (1) = | @R F24 1| 3 1 2
(2) Statement lis correct but Statement |l is incorrect (2) ¥ 198 2 AR e e 2
(3) Statement lis incorrect but Statement |l is correct (3) U | T 7 AfehT e 1w 2
(4) Both Statement | and Statement Il are correct. @) wYE | IR T | DA FE
52. Assertion(A) and the other is labelled as Reason | 52. AR @ F R Iw T v A A (A) aﬁTE'G:(‘ Tl
(R). FRUT (R) & &9 & o foar mar 21
Assertion : S (A):
In CaF,, Ca occupied void and F form the lattice. g‘TFzﬂ. Ca R @i it =Iwar 2 S F wirerds a=rar
Reason: HRT (R) :
Generally cation go to void and anion form the lattice. G HAEH Red § o@r 2 3R e Jaes
In the light of the above statements, choose the < T
most appropriate answer from the options given J9dad YAl & ge A, A fow e et & @
below: I8 IUgFd IR HT 9 MW :
(1) Both (A) and (R) are correct but (R) is not the (1) T (A) 31 (R) @& & aferT (R) 981 e 81
correct exaplanation of (A) '% (A)
(2) (A) is correct but (R) is not correct 2) (A) 58 2 AT (R) 98) 781 &
(3) (A) is not correct but (R) is correct 3) (A ) W& T B aﬁ’_’f R
(4) Both (A)and (R) are correct and (R)is the correct “) ﬁ (A) it R)aﬁ% ‘:’?R (R), (A) &1 &I T
explanation of (A) 7
53. Which one is the correct order of acidity : 53. 3Pl T US) A DI AT 2 :
(1) CH-CH,>CH,=CH,>CH-C=CH>CH=CH (1) CH,-CH,>CH,=CH,>CH,-C=CH>CH=CH
(2) CH,=CH,>CH,~CH-CH_>CH,~C=CH,>CH=CH (2) CH,=CH,>CH,-CH-CH,>CH_-C=CH,>CH=CH
(3) CH=CH>CH -C=CH>CH_=CH,>CH_—-CH, (3) CH=CH>CH,-C=CH>CH,=CH,>CH,—CH,
(4) CH=CH>CH,=CH,>CH,—C=CH>CH_-CH, (4) CH=CH>CH,=CH,>CH-C=CH>CH_-CH,
54. In which pair of ions both the species contains | 54, gl =) =il ¥ <A yonfoal & S-Sa=r 8 ® -

(1) §,0.7,5,07 )

476 ?

5,0.7,5,0.*

7 7278

507

2?’25

(3) 5,075,507

476

@ 8,0




55.

56.

57.

58.

59.

Decreasing order of stability of O,, 0,7, O," and 02"'-
is:

(1)0,?>0,>0,>0,"
rigeNeiphe Lell S ey
(30, >0,>0,2>0,
(4)0,” >0,>0,>0,7

In which option properties of the given three
complex are correct :

) O,
) O,

[Ni(CN),I* [Ni(CI), I~ [Ni(CO),]
(1) Square planar Paramagnetic = J8 BM
2yu=0 tetrahedral diamagnetic
(3) diamagnetic  p= J8 BM Square planar
(4) Square planar Diamagnetic = Tetrahedral

Match the metal ions given in Column | with the
spin magnetic moments of the ions given in

Column Il and assign the correct code :

Column | Column Il
a. Co* i. J8B.M.
h Cr* ii. 35B.M.
Fe* iii. /3B.M.
d. Ni# iv. J24B.M.
v. Jf15B.M.

(1) a-iii, b-v, c-i. d-ii

(2) a-iv, b-v, c-ii, d-i

(3) a-iv, b-i, c-ii, d-iii

4) a-i, b-ii, c-iii, d-iv

Reaction BaO_(s) = BaO(s) + 0,(g); AH = +ve. In
equilibrium condition pressure of O, depends on :
(1) Increase mass of BaO,

(2) Increase mass of BaO

(3) Increase temperature on equilibrium

(4) Increase mass of BaO, and BaO both
For the redox reaction
MnO, +C,0* +H"—» Mn* +CO,+H0
the correct coefficients of the reactants for the
balanced equation are :

MnO; C,0> H
(1) 5 16 B
2 2 16 5
3) 5 16 2
@ 2 5 16

55.

56.

57.

58.

59.

0,,0,,,0," Ak 0,2 % Rear &7 wcar 9 7 :
(1) (:)2*2>OZ*>OZ>O2+
20 0,>0,/>0,2>0,
(3) Oz* >Oz> OZ*2>02’
(4)0,r >0, >0,>0,
Toru faspeT % R M0 A9 95 & T AL 2

NCNLF-  [Ni(CI),J- [Ni(C0),]
(1) =3 -aweel g L =+/8BM
(2)p=0 AgFADE  dfagIn
(3) wiagas 1w =+/8 BM T FHEl

(4) = A ElREEER ER eI
Fiaw | ¥ Re 79 arg m &1 Sies 13 Ry me
A & R il et & ey R s sk
a8l @ig @l Fide &

Hiad | el

a. Co* i. 8B.M.

h Cr* ii. /35B.M.

c. Fe¥ iii. +/3B.M.

d. Ni* iv. J24B.M.
V. J15B.M.

(1) aiii, b-v, c-i. d-ii
@) a-iv, b-v, c-ii, d-i
3) a-iv, b, c-ii, d-iil
@) a-i, b-ii, c-iil, d-iv

FRifar Bao,(s) = BaO(s) + 0,(g); AH = +ve. GraiEedl
0 Rafa A 0, &l 2 Fsit ar 2

(1) BaO, I so¥ M e W
(2) BaO = 559HM 989X
(3) AFTIEE R AT dgH T
(4) BaO, 3k BaO Tl =T T Fe T
Rerora aifsifrar & forg
MnO,- +C,0,> + H* — Mn? + CO, + H,0
Fqfera @iier & ferg iRl @61 @8t o 2

MnO, CO# H'
(1) 5 16 2
@ 2 16 5
@) 5 16 2
4 2 5 16




60.

61.

62.

63.

Ph-OCH3+HI — Product.

In the above reaction major product & mechanism
is:

(1) CH,l, SN
(2) CH,I,SN?
(3) Phl,SN!
(4) Phl,SN?

For a reaction A 2B, rate of disappearance of
‘A is related to the rate of appearance of ‘B’ by
the expression:

_dA]_, dB]
Mg ~*a
_dA] _1dB]
@ & 2
_dA] _ 1dB]
dt 4 dt
_dA] _dB]
TR

In the following sequence of reactions, the
compound ‘B’ will be :
H,0

= 4 Zn B

CH,CH=CHCH,

The compound B is:
(1) CH,CHO

(2) CH,CH,CHC

(3) CH,COCH,

(4) CH,CH,COCH,

For the following three reactions a,b and ¢

equilibrium constants are given:

(i) CO(g)+H,0(g)«=>CO,(g)+H,(a)iK,

(ii) CH,(g)+H,0(g) <>CO(g)+3H,(g) K,

(ilj) CH,(9)+2H,0(g) > CO,(g)+4H,(0):K,
Which of the following relations is correct?
(1) K,.K3=K3

2) K, JK5 =K,

(3) KK,=K,

@) K=K K,

60.

61.

62.

63.

Ph-O-CH,+HI— e

IRiea Al 3 e gene Ak e Rl s
(1) CH,I, SN

(2) CH,LSN?

(3) Phl,SN'

(4) Phl,SN?

FNfFATA > 2BH AT qA e MR TS
T A W/ R 9T TS B

dA _,dE]
O T

dA] _ 1dB]
@ "% "2
_dA] _ 1dB]
@) "4t "1 at

dA] _ dB)

dt  dt
Ffiferar & BT 2ot ¥ gifer B B

H,0O
Zn

03 YA

CH,CH=CHCH,

aifirw B B

(1) CH.CHO

(2) CH,CH CHO

(3) CH,COCH,

(4) CH,CH,COCH,

i SARRRATE a,b 3R ¢ B wrg Reas Y 7 2:
(i) CO(g)+H,0(9)=CO,(g)+H,(g):K,

(i) CH,(g)*H,0(g)<=CO(g)*+3H,(g):K,
(iii) CH,(9)+2H,0(g)<=CO,(g)+4H.(g) K,
e & @ wE e 2

(1) K,.K3 =K3

@) K, K, =K,

(3) KKK,

@) K=K K,




64.

65.

66.

67.

68.

In the hydrocarbon
CH,~CH=CH-CH-C=CH
6 5 4 3 2 1

The state of hybridization of carbons 1, 3 and 5
are in the following sequence:

(1) sp,sp’,sp?
(2) sp,sp?sp®
(3) sp*,sp?,sp
(4) sp?sp,sp°

In which case in number of molecule of water
maximum :

(1) 18 mL of water

(2) 0.18 gm of water

(3) 0.00224 It of water vapour at 1 atm and 273 K
(4) 10 mole of water

The conjugate acid of NH, is:

(1) NH,

(2) NH_OH

(3) NH;

(4) NH,

The structure of intermediate A in the following
reaction, is :

CH,
CH,

cHS OH
O
—ZE Ao + H;C*CHQ

CH, CH,
o- IEH H.C-C-0-0-H
1 © H, 2
H. _CH~0-0-H
0-0-CH HC,
() f|3H3

“CH,
@)

Which of the following gives iodoform test :
(1) CH,CHO

(2) HCHO

(3) Both

(4) None

64.

65.

66.

67.

68.

LEEIL L

CH,—CH=CH-CH,-C =CH

6 5 4 3 2 1

= Aot A =T & 1,3 SR 5 & ST FhT BN
(1) sp.sp®,sp?

(2) sp,sp?,sp’®

(3) sp®,sp”,sp

(4) sp®.sp,sp’

o qaen ¥ 5 @ Avga A g Attrea Bl
(1) 51 T 18 mL

(2) S =1 0.18 U

(3) 1 atm 3R 273 K9X Seramey 0.00224 4

(4) STt T 1021

NH ;& Sl 37 2

(1) NH,

(2) NH,OH

(3) NHj

{4) NH,

Frfafaa st ¥ et A g e

_CH,
CH\CHS OH 5
© — A5 + H,C* CH,
(|3wa (|3H3
0-CH H,C-C-0-O-H
(1 CH, 2
bk _CH~0-O-H
0O-O—CH HC
CH,
3 (lJHs 4) ©
1 A ¥ =i 9 aifire g=eRT g 2
(1) CH.CHO
(2) HCHO
(3) =1
(4) =g




69.

70.

71.

72,

73.

74,

The pH of 0.01 M NaOH solution will be :
(1) 7.01

@) 2

(3) 12

49

Which one of the following ions exhibits d-d
transition and para magnetism as will be :

(1) CrO,”

(2) Cr,0,2

(3) MnO,~

(4) MnQ,™

For the cell reaction

2Fe* (aq) + 2I- (aq) — 2Fe* (aq) + | (aq)

E°, = 0.24 V at 298 K The standard Gibbs energy
(A,G°) of the cell reaction is:

[Given that Faraday constant F = 96500 C mol]

(1) —46.32 kJ mol”

(2) —23.16 kJ mol-'

(3) 46.32 kJ mol

(4) 23.16 kJ mol!

The IUPAC name of the compound is :
(CH,),CH-CH=CH-CHOH-CH,

(1) 5-Methylhex-3-en-2-ol

(2) 2-Methylhex-3-en-5-ol

(3) 2-Hydroxy-5-methyl-3-hexene

(4) 5-Hydroxy-2-methyl-3-hexene

During the formation of a chemical bond :

(1) Energy of the system does not change

(2) Electron-electron repulsion becomes more than the
nucleus-electron attraction

(3) Energydecreases
(4) Energyincreases

Which of the following polymers is prepared by
addition polymerisation :

(1) Dacron

(2) Teflon
(3) Nylon-6, 6

(4) Novalac

69.

70.

71.

72.

73.

74.

0.01 M NaOH fa=ig=1 =1 pH &I :
(1) 7.01

@) 2

(3) 12

@9

TawfaRaa ¥ @ «6l7 a1 399 d-dEweT 3R Sgew
off wefifa v @ :

(1) CrO,?

(2) CrO.”?

(3) MnO,

(4) MnO,?

a ifviforan & forg

2Fe* (aq) *+ 2I" (aq) —» 2Fe? (aq) * L (aq)

Ee,.,=0.24 V at 298 KW ¥ ifsiferar &1 - fireq
Full (AGY 2R

fear 1ar ® % RuR Rere F = 96500 C mol]

(1) —46.32kJ mol

@) —23.16kJ mol~

(3) 46.32 kJ mol~

(4) 23.16 kJ mol~

AT =T IUPAC 19 BIT:
(CH,),CH-CH=CH-CHOH-CH,

(1) 5-Aet B -3 -9 -2 -3

(2) 2 -yt B -3 -394-5 -3

(3) 2 -BrEEEI -5 - AT - 3 -2

(4) 5 -BTEIIRET -2 - AT -3 -RFE

TaEHE 97 & At & W

(1) Ty < ot & aftads =2 & 2

(2) FFCH -SoaeH & A & Sfeor, FiE e
JTEFNOT & e B

(3) Fl T
(4) 9T T

fr=ferfaa & & 19 a1 sgas Ao YRl S
dar forar wirar 2

(1) 3
(2) oA




75.

76.

77.

78.

79.

Name and Catalyst of the following reaction is

)

|

~qal ©/
—

(1) Stephen reaction—H, + Pd/BaSO,

~—r

CHO

(2) Rosenmund reduction —SnClL/HCHH,O*
(3) Rosenmund reduction-—H,+Pd-BaSO,
(4) Etard reaction—CrO,CI/CS,

If 0.5 mol of BaCl, is mixed with 0.2 mol Na,PO,
then maximum number of moles of Ba,(PO,), that
can be formed is :

)2

(1) 0.7

(2) 0.5

(3)0.3

(4) 0.1

The t,, of first order reaction is :

(1) dependent upon initial concentration

(2) directly proportional to initial concentration
(3) indirectly proportional to initial concentraticn
(4) independent of initial concentration

All real gases behaves as ideal under-

(1) low pressure, high temperature

(2) high pressure, high temperature

(3) low pressure, low temperature

(4) high pressure, low temperature

Standard electrode potentials of two half cells are
given as

Zn?*Zn=-0.76 V
Ag*/Ag =0.80 V
The EMF of the cell
Zn | Zn* (1M) || Ag* (1M) | Ag will be :
(1) 1.56 V
(2)1.20V
(3) 0.04 V

4) —1.56 V

75.

76.

77.

78.

79.

34 kAT &1 99 9 I3 S|

0

[
C CHO

o=

(1) =% iifshar — H, + Pd/BasSO,
(2) JAFUE 399aT — SnCl,/HCI+H,0*
(3) IS 3rq=a — H,+Pd — BaSO,
(4) 3eie aiffear— Cro,Cl/Cs,

3f¢ 0.5 A BaCl, &l 0.2 e Na,PO, ¥ fiielid 2 aa
Ba,(PO,), % 3iftrarar At st g Bl ¢

(1) 0.7

(2) 0.5

(3) 0.3

(4) 0.1

t,, 1 TR Fife i ffEa 2 -

(1) wRRRTE FFer 98 R e

(2) IRFNT AT # FEEE

(3) WRIF FFET & SR

(4) R e & e A B ®

e arafas A9 sedl Al @ Ty A9 el 2 -

(1) 71 =/, 9= a9 W

(2) I%9 T@, I=F AT |

(3) = =, A= 9 W

(4) J%9 =@, f771 A W

TE A R a A ad da A @
Zn*1Zn=-0.76 V
Ag*/Ag = 0.80 V

d T EMF

Zn | Zn? (1M) || Ag* (1M) | Agsm :

(1) 1.56 V

(2)1.20V

(3) 0.04V

@) —1.56V




80.

81.

82,

83.

84.

The correct order of acidic strength is :

(1) CH,CF,COOH>CH,CCI,COOH>CH,CBr,COOH
(2) CH,CF,COOH>CH CBr,COOH>CH,CC|,COOH
(3) CH,CBr,COCH>CH,CCI,COOH>CH,CF,COOH
(4) CH,CCI,COOH>CH,CBr,COOH>CH,CF,COOH

In test for primary amines, the amine is treated
with CHCI, and KOH and a bad smelling compound
is formed. If the primary amine used is ethylamine,
identify the bad smelling compound formed :

(1) CH,CN
(2) CH,CNO

(3) CH,CH,NC

(4) CH,NCO
CaC, +H,0 > A—1250¢ .g
HgS04

Identify A and B in the above reaction :
(1) C,H,and CH,COOH

(2) C,H,and CH,COOH

(3) CH, and HCOOH

(4) C,H,and CH,CHO

Which of the following sets of quantum numbers
is not correct :

n | m S
1 2 0 0 +i
(™) 5
2y 4 3 2 +l
@) 5
3 2 2 0 1
@) 5

4) All of these

Which of the following is most stable :
(1) Sn*~*

(2) Ge**

(3) Si**

(4) Pb**

80.

81

82.

83.

84.

I &TET TGS A B

(1) CH,CF,COOH>CH.CCI.COOH>CH,CBr,COOH
(2) CH,CF,COOH>CH.CBr,COOH>CH,CCl,COOH
(3) CH,CBr,COOH>CH,CCI,COOH>CH,CF,COOH
(4) CH,CCL,COOH>CH,CBr,COOH>CH,CF,COOH

arfie e sEr & fold CHCL, 3k KOH & |y
Fitferar a3 @ v wf gifie a2 1 3l
et @fle &1 gatw oie e @, at
it w41 i &

(1) CH.CN

(2) CH,CNO
(3) CH,CHNC
(4) CHNCO

CaC, +H,0 > A 12594 ,p

HgS0,

Iudaa aififhar ¥ A it B &l ysaiag
(1) C,H, 3k CH,COOH

(2) C,H, 31k CH,COOH

(3) CH, 3t HCOOH

(4) C,H, 3R CH,CHO

1 & 3 T gEms #1 9E AT 7 2

n | m S
1 2 0 0 gt
(1M 5
2) 4 3 2 ok
2 >
3) 2 2 0 1
3 >
(@) IR o
e & 9 99l aifes e 2 .
(1) Sn**
(2) Ge**
(3) Si**

(4) Pb**




85.

Which one of the following is the correct order for
the decomposition temperatures of CaCO,(X),

MgCO,(Y) and BaCO,(2) ?
(NL£>X>Y
@ X>Y>Z
@ Y>Z>X
@ X>2>Y
SECTION-B

895.

CaCO,(X), MgCO,(Y) 3k BaCO,(2) & e aml &
AFI 6T S FH B

MZ>x>Y
2 x>Y>2Z

(B)Y>Z>X

{us-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

86.

87.

88.

89.

Which one of the following substances has the
highest proton affinity :

(1) HO
(2) H,S
(3) NH,
(4) PH,
Freundlich adsorption isotherm equation is :

m 1
1) log—=Ilogk+—logP
(1) QX g = g
(2) Iog%:logk+nlogF>
(3) Iog%:logk+nlogP

X 1
4) log—=logk+—logP
4) gm g n g

12.3 g nitrobenzene is reduced into aniline by

electrolysis, if current efficiency is 25% calculate
charge reduced in coulombs :

(1) 12 x 96500 coulombs
(2) 1.2 x 9650 coulombs
(3) 24 x 9650 coulombs

(4) 96500 coulombs

In the preparation of compounds of Xe, Bartlett
had taken O,'PtF - as a base compound. This is
because :

(1) Both O, and Xe have same size
(2) Both O, and Xe have same electron gain enthalpy

(3) Both O, and Xe have almost same ionisation
enthalpy

(4) Both Xe and O, are gases

T G A 1593 21 q92rlf 59 15970 & 3 =S off
10 Y% < Ghar 2 1 3¢ ydemit 109 sfis ye 1
I 2T 2 A wd R Y T 109 € W B

86.

87.

88.

89.

91 % A v ) v At G a=Ern et
(1) H,0

) H,S

(3) NH,

(4) PH,

thelera aiftrayor wardla e @ :

m 1
log— =log k + —log P
(N ng 0g +n|og
(2 Iog%=logk+nlogP
(3) log%:logk+nlogP

X 1
log—=logk +—log P
(4) ogm 0g +n og

12.3 g g o TRl 3 sroafa fomar i afe
faea arrar 25% @t At avaRa e & T

(1) 12 x 96500 Fefie

() 1.2 x 9650 FHellT

(3) 24 x 9650 el

(4) 96500 Feie

Xed gifirs & Fwfor F, sdele 7 0,'PtF,- ) SuIX
i & &1 % forar um1 97 2 w6

(1) O, 3 Xe TR & SFR T4 21

(2) O, 3 Xe 2l ¥ T4 TeiagH @l ol Bret 2

(3) O, 3 Xe BT ¥ TRINAT WHH A=A Fofl Bt 21

(4) Xe 3K O, T &




90.

91.

92,

3.

94,

The purpose of addition of NaCN in Froth Floatation
process is

(1) NaCN causes reduction by precipitation.

(2) A soluble complex is formed by reaction between
NaCN and ZnS while PbS forms froth.

(3) Ascluble complex is formed by reaction betweeen
NaCN and PbS while ZnS forms froth.

(4) A precipitate of Pb(CN), is produced while ZnS
remain unaffected.

Which one of the following is most reactive towards

electrophilic attack?
OH
el

. @/NOZ
- @ - @/CHZOH

Which one given below is a reducing sugar :
(2) Maltose
(4) All of these

(1) Glucose
(3) Lactose
Identify the product in the following reaction :

N -

N,Cl (i Cu,Br, /HBr
(ii) Mg/ dry ether
(N0 Product
OH
MgBr
(M © ()
Br

OH

© @ o Q)

Match the following :
Oxide Nature

(1) cO (i) Basic

(2) BaO (ii) Neutral

(3) ALO, (i) Acidic

(4) CLO, (iv) Amphoteric

Which of the following is correct option?
(1) (2) (3) (4)

(1) (iii) (iv) (i) (i)

@) (iv) (iii) (i) (i)

@) () (ii) (iii) (iv)

(4) (ii) (i) (iv) (iii)

90.

21

92.

93.

94,

& e fAfr § NaCN forer Sgewg & Fiemr sian 2 7
(1) NaCN 3a&/q9T & SR 31999 Fea 21

(2) ZnSe Ay FRITRaT FEh NaCN vk Jaeiie o0
T & W9 PbS A & BT & o 21

(3) PbS® Ay Jilehar e NaCN ves el oau
TN TAF ZnS B T HE0T 5 e 2

(4) Pb(CN), =T U 31987 51 ST & Selieh ZnS 3oiae
& w2

RARTENE oew & Re B ¥ A W ah

Toamaiter 2:
- @,OH

NO,

V@1

¢ CH,OH
3) @ @) @

I A 1A =g ol JvaRa gwa 2
(1) TegehIST (2) HreErSt
(3) dEie (4) I asi
Frfoiaa siftifrar % I<are &l -
%
N.Cl  (i)Cu,Br, /HBr
(i) Mg/ dry ether
(iii) H,0
MgBr o
(1) © @)
Br
OH

3) @ @) @
TFr=fafaa =1 farm i

EIEHIES] EER]
(1) co (i) =
(2) BaO (i) SR
(3) ALO, (iii) 3F=l
(4) CLO, (iv) IR
e ¥ s ar el fareg 2 -

(1 (2 (3) (4)
(1) (i) (iv) (i) (i)
(2) (iv) (iii) (ii) 0]
@3) (i) (i) (iii) (iv)
(4) (i) (i) (iv) (iii)




95.

96.

97.

98.

929.

Match List-l with List-l :

List-l List-ll
a. Coke i. Carbon atom are sp?
hybridised

b. Diamond ii. used as a dry lubricant

Used as a reducing
agent
d. Graphite iv. Cage like molecules.

Choose the correct answer from the options given
below :

(1) a-iii, b-i, c-iv, d-ii

(2) a-iii, b-ii, c-i, d-iv

(3) a-iv, b-ii, c-iii, d-i

(4) a-iii, b-iv, c-i, d-ii

Mixture of chloroxylenol and terpinol acts as :
(1) Antiseptic

(2) Antipyretic

(3) Antibiotic

(4) Analgesic

The following metal ion activates many enzymes,
participates in the oxidation of glucose to produce
ATP and with Na, is responible for the transmission
of nerve singals.

(1) Calcium
(2) Potassium
(3) Iron

(4) Copper

¢. Fullerence iii.

The method used to remove permanent hardness
of water is :

(1) synthetic rasins method

(2) Calgon's method

(3) lonexchange method

(4) All of these

Given below are two statements :

Statement I:

Clean water would have BOD value of less than 5

ppm.
Statement Il :

Excess nitrate in driking water can cause disease
such as methemoglobinemia.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

95.

96.

97.

98.

99,

G-l g R &

-l a4l

a. @& i. e J] spPEHAd B

b. SIEHTE ii. IH EEH D A
RAUIE L

c. R iii. gqaﬁam#mam

I
d. AEEE iv. fra ot srvp
R o e faeheut A @ 98 IR A

(1) a-iii, b-i, c-Iv, d-i
(2) a-ii, b-ii, c-i, d-iv

(3)a-Iv, b-ii, c-ili, d-i

(@) a-ii, b-iv, c-i, d-i
FeAlirgeliHid AR cefiFier o fsor & o 2
(1
@)
3)
(4) T

Fe=foaa a1g s 2 ¢ it ahig &ar @ ATP
& I HE & Forg eanlar & sardisneor A SR Aar
2 3k ATP % a9 Na = a=tor & fore emler star 21
RIEEIE IR

(1) s

2) aefamw

3) FEe

(4)

el F I FSiRar 1 X FA @ fore fg fafr =r
I fHar ST @ -

it

Y I
3[€ W 1 BODAM 5 ppm & &3 BT 21
%y Il :

G % e ¥ e 9 A Y SRR 36
R & w21

IR FU & desf ¥ = Ry ¢ famedt A 4 =iy
% ITYF I I TG DY

(1) =¥ | 3R F2F 1 39 e 2

(2) = 19L& <fehd o 11T 21

(3) FF | T & iR e 1199 2

@) = | IR T 11 S 96T )




100. Which among the given molecules can exhibit | 100. ﬁqwmﬁ‘aq};{m &ﬂwﬁﬂiﬁhﬁ
tautomerism : Fhar 21 -

M @ (1) ED
) @’O ? (D?O

e od

(4) Both 2 and 3 @) A 237 3




TOPIC : FULLSYLLABUS (MODEL)

PART-1 (SECTION-A)

Attempt All 35 Questions

101.

102.

103.

104.

Which one of the following is the incorrect match

(1) Mollusch — Branchial respiration
(2) Fish - Gills

(3) Mammals — Pulmonaryrespiration
(4) Mollusch —  Only pulmonary

respiration

Heart —» deoxygenated blood — gills —
oxygenated blood — body parts — deoxygenated
blood — heart. This is

1) Single circulation
2) Incomplete double circulation

3) Double circulation

o~ e e

4) None of these
Given below are two statements
Statement |:

The efferent arteriole emerging from the glomerulus
forms a fine capillary network around the renal tubule
called the peritubular capillaries.

Statement Il :

Vasa recta is absent or highly reduced in cortical
nephrons.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement |is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct
The given diagram is :

(
@

) Meromyosin

)
3) Acting filament

)

Myosin monomer

(
(4) Both1and2

HAT-1 (EUE-A)
aoff 3599 fEr @

101. Fr=ifeiaa A @ &l W sIgEgar g 2

(1) Hrerh —  Sihge yaee

(2) #=el - fiem

(3) =T ~ IR FEE

(4) Hewh —  Had TR e
102. ge9 —> FriiFd ¥R — Rieg — reiiga 'R

103.

104.

— TR & A ¥ > FFNFT R — g9 |1 98
T2 ?

(1) vehed 9RE=RTT

) 3l ey gRE=Ror

(3) =rew uREERer

(4) =S 7T

Y -1

Tz ¥ Maes Al et vafE, gad At &
TN 3R G HIAFTN F A T 2 i afAfora
HFEE w5 2

YA -1l

TencId ABA A T/ T A1 9 AR a1 st
Sey B 2|

W R el § A 98 Iea oo
(1) 2FF =9 | 3R o 1177 2
@) T |98 I U e B
(3) FUT | & W o |IEE R
(4) S U |3 T 1EE 2
Ferar wan o 2




105. Select the correct option for the given diagram

105. o A R = e 98t fawey &1 987 o

(1) A—Cranial bone
(2) B-Facial bone
(3)

)

@

E-Facial bone
All
106. How many are chlorophyll bearing organism :

Agaricus, Albugo, Anabaena, Aspergillus, Amoeba,
Plasmodium, Trypanosoma, Chlamydomonas,
Volvox, Fucus, Seapen, Sea fan, Slimemoulds,
Mustard, Eucalyptus, Ectocarpus.
(m 7 (2) 6
(3) 8 4y 10

107.Given below are two statements
Statement I
In cockroach each compound eye consists of ommatidia
Statement 1l :
Anal cerci present in both male and female cockroach

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement |l is correct

(4) Both Statement | and Statement Il are correct
108. Which statement is correct :

(1) Mandible of cockroach have grinding and incision
regions

(2) Incolumnar epithelium cells are scale like
(3) Incolumnar epithelium of stomach have cilia
(4) None of these

(1) A—arey 3y
(2) B3 3Ry

(3) E—3 1 3y

(4) &

106. fham Silg TR @ 2

SR, FAMEEIEE, aearad, Ty, 9, e,
wIgAes, 9, g fercd, Taciarig|

(17 2) 6
3) 8 (4) 10

107. i Re e a Fua 2
FYA -1

FTFIT H I GG A AF & Pt a4 B 21
FAT -1l ;

&I 9 A 3 e A FRd ¥ 9T S 2

4R Ry fawedl & 4 @8 IR A

(1) 3 Fo | 3IR &y 113 7

@) FYF |G T Y 9T 2
(3) U |9efd 2 g e 1168 2
(4) B T | R FE 1G9 R
108. T FUT I ®
(1) i & F=fe ¥ i 3R gARem & 3 2
(2) T AR ¥ RfFE @R wgw B R
(3) T & g ghrAferaw A Hfern rar S @
(4) =g




109. In which of the following option are incorrect:

Biological name

(a) Homo sapiens

(b) Musca domestica
(c) Mangifera indica
(d) Triticum aestivum
(1) Onlya, b

(2) Onlya, c

(3) Onlya,d

(4) Onlyc, d

Family Order
Primata Hominidae
Diptera Muscidae

Anacardiaceae Sapindales

Poaceae Poales

110. The given below diagram of animal belongs to

(1) Reptilia
(3) Urochordata

(2) Chordata
4) All

111. The given below diagram is

(1) Tapeworm
(2) Chindoblast
(3) Syecon

(4) Octopus

112. The given floral formula related to which plant:

Br & prr:}r:ﬂ A ij

(1) Gloriosa
(2) Mustard
(3) Tomato
(4) Soyabaen

109. 7T & 3 =l &1 ey a2
EEIECTE L] Bl
(a) ert g grgier
(b) wEwT T Redw
(c) A=Mha sFear  TAERERE
(d) Roww wdianr Qe
(1) ®ada, b
(2) dada, c
(3) ®awa, d
4) ®aec, d
110. fear 1y vy =1 fo forad avafeea 2

(1) =% A
(3) TR &
1. Tear & R 4 2

(1) eT
2) e
(3) "rEhH
@) mEeTE
112. far ar yofig o= frg wter @ wafeua 2

Br @QWPISGJA'MJ Gr:an
(1) T3
) @@
(3) TAET
(4) |EEA




113.

114.

115.

116.

117.

In which of the following plants Bisexual flower
present:

(1) Tulip

(2) Sesbania

(3) Chinarose

(4) Al

Which of the following is not a function of the
skeletal system :

(1) Production of body heat

(2) Locomotion

(3) Production of erythrocytes

(4) Storage of minerals

Ground tissue includes :

(1) alltissues except epidermis and vascular bundles
(2) epidermis and cortex

(3) all tissues internal to endodermis

(4) all tissues external to endodermis

Continuous wavy ring cambium formed in

(1) Monocot root

(2) Dicot root

(3) Monocot stem

(4) Dicot stem

Study the four statements (i-iv) given below and
select the two correct ones out of them.

(i) A lion eating a deer and a sparrow feeding
on grains are ecologically similar in being
consumers.

(ii) Predator star fish Pisaster help in maintaining
species diversity of some invertebrates.

(iii) Predators ultimately lead to the extinction of
prey species.

(iv) Production of chemicals such as nicotine,
strychnine by the plants are metabolic
disorders.

The two correct statements are :

(1) (ii) and (i)

(2) (iii) and (iv)
(3) (i) and (iv)
(4) (i) and (ii).

113, Fr=fefaa & @ o wtd 3 faferit qor Sufta 21

114. Fr=ifefeaa ¥ @ =l a1 vah 1 Fahrer 91 F1 98 2

(1) IR IS & Ieded
() ==
(3) SdETEeE T I

4) | T U

115. YT SHae 4 gRafed 2;

(1) &% Sd% 9eg =l 97 995 a=d &l SIEHC

(2) STEdET AT FIC T
(3) A B I G SHAd

(4) FaEear & 9B & G Had

116. Idd AEER Sedl dlell HREH -1 2 |

(1) v oz ¥
(2) Tesior=r oig
(3) THESITE A #
(4) fedfroraar a9 &

117. 1= oA IR St &1 JreAg ¢ AR I < 4 &1

919 W :
(i) v I RE =t @ 3 e Rar <E w "
2 A I sle TRRYEET 9 @ @ 21

(ii) O Ao TR & Al 9 sl
fafemr =) T e A gsrEar ) 21

(i) werel e A R 2R arell wifodl & Raw @9
T HIT I B

(iv) Frnifest, Rgen-iia TamE= =i Ieared, gt & 80
T I R 71

(1) (ii) it i)
(2) (i) 3 (iv)
(3) () S (iv)
(4) (i) S (ii).




118.

119.

120.

Select the correct option for the given diagram

118.

2 1 e & fore 9 faser &1 w99 W=

(1) Reed swamp stage
(2) Marsh - meadow stage
(3) Scrub stage

(4) None of these

For upgradation of quality of vehicle engines

which term are used :
(1) Bharat stage
(2) Engine stage
(3) Vehicle stage
(4) Critical stage

Select the correct option for the given diagram

g
3]
=
b}
=9
g
S
3
&
=
aq
o
a
o
=
-15 r T ‘ T - T T r T
50 100 150 200 250 300 350 400 450
Mcan annual precipitation (cm)
(1) A-Desert

(2) B-Tropical forest
(3) C—Temperate forest
(4) D-Arctic and alpine tundra

119.

120.

(1) R ST =

(2) T WEA W

(3) T =T

(4) =TS T8

e & ol S UET B GUR D o e =
=T 94T e i 8

(1) 9RT =

(2) 1 =R

(3) AfFe T

@) frdiea =

2 W R & e w fawer @1 97 w7

FET amtE A )

_wjf,

T T T T T T T T T
50 100 150 200 250 300 350 400 450

e A 9 (em)
(1) A-TEEI
(2) B-3W whiga~ &9
(3) C—dieT a9

(4) DMl IR TerET <o




121.

122.

123.

124.

125.

Out of the total cost of various ecosystem services
the soil formation accounts for about :

(1) 40 %

(2) 30 %

(3) 20 %

(4) 50 %

How many are example of Exsitu - conservation
a. Zoological park

b. National park

c. Wild life safari park

d. Botanical garden

e. Sacred groves

(1)
(2)
@)
()

Which one of the following containes minimum
content of energy :

(1) Grass

(2) Snake

(3) Grasshopper
(4) Frogs

Two
Three
Four

One

A Individual has certain attributes. This attributes
are :

a. Death
b. Birth

¢. Death rate
d. Birth rate
e. Sex ratio
a, b

c,d e
Only e

(4) Onlyc, d

Which one of the following is not used to control
the air pollution :

1) Unleaded petrol
2

3

Catalytic converter

CNG

o~ s

)
)
)
)

4) None of these

—

121. fafr=1 wiRa= Yarsit 9 et arE A § fahamn ufowa

Fad Jor g (R ToA) B g F
(1) 40 %
(2) 30 %
(3) 20 %
(4) 50 %

122. FoRam ITETT SEEH G 1 2|

123.

124.

125.

a. ot JuH

b. TR T

c. I o9 96 9

d. FFEfaE 3TH

e. 9aF I

(1) =t

(2) =

(3) =X

4) T

Fr=feRas % @ +i9 Feaw ot 1 aErEar?
(1) ==

(2) €T

(3) WHETFT

() ¥eh

T AT {S A0 AT B T8 AT E
(@ 1

(b) w=1

(c) FIR

(d) w=e

(e) Terur S

(1) ab

(2) c,d e

(3) ®ad e

(4) @9w ¢, d

frafofaa & @ w9 9y 9w @ Fg=r & foe
E‘(ﬁ‘ﬂﬁﬂﬁﬁ?ﬂ%;

(1) rerfEe Yo

(2) I IRadH

(3) CNG

(4) = &




126. Select the incorrect option for the given diagram

127.

128.

129.

+

(1) Used in control of air pollution

(2) Scrubber
(3) Radioactive element used

@) Al
In the given below diagram identify A, B, C, D :

(1) A—Angiosperm (2) B —-Mosses
(3) C-Fernsandallies (4) D - Lichens

Which one of the following are maximum number
of species in Amazonian Rain forest

(1) Plants (2) Amphibians
(3) Invertebrates (4) Fishes

The pelvic girdle consists of :

(1) Two scapula and one clavicle

(2) Two scapula and two clavicle

(3) One scapula and one coxal bone

(4) Two coxal bone

126. f2d 1A R = fore o Reeq &1 =g+

\Ns

(1) =/ geuvT & Fg==or ¥ ImEnT
(2) W
(3) WAEHT T T 3TN
4) =q
127. 19 3 7@ R A A, B, C, D& 729 &%

(1) A-cfEes (2) B
(3) C-w 3R anfe @) D-wrEaH
128. FrfeRaa A & =19 FEeF anf a9 § waifes sfear
) ger A 2
(1) 9req (2) IHFH
(3) 3rEHIESHT (4) wesett
129. =ivit Ager Rt s e 2 -




130.

131.

132.

133.

Given below are two statements
Statement |I:

Surgical methods, also called sterilisation are generally
advised for the male/female partner as a terminal method
to preventany more pregnancies.

Statement Il :

Surgical intervention blocks gamete transport and there
by prevent conception.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement I:

IUDs are ideal contraceptives for the females who want
to delay pregnancy and/or space children.

Statement Il :

Oral administration of small doses of either
progestogens or Relaxin-prolactin combinations is
another contraceptive method used by the females.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

The exaggerated response of the immune system
to certain antigens present in the environment is
called

(1) Immunity

(2) Passive immunity
(3) Innate immunity
4) Allergy

Fovea (a central pit in macula lutea) is the point

where visual activity is greatest. In fovea.

(1) Only rods are densely packed

(2) Only cones are densely packed

(3) Both rods and cones are densely packed
)

(4) Cones are less in number

130.

131.

132.

133.
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134.

135.

Given below are two statements
Statement I:

Anucleotide has three components a nitrogenous base,
a pentose sugar and a phosphate group.

Statement Il :

A nitrogenous base is linked to the OH of 1'C pentose
sugar through a N-glycosidic linkage to form a
nucleoside.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |:

In prokaryotes such as E.coli though they do not have
a defined nucleus the DNA is not scattered throughout
the cell.

Statement Il :

The DNA in nucleoid is organised in large loops held by
proteins.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
2)
@)
(4)

Statement | is correct but Statement |l is incorrect
Statement | is incorrect but Statement Il is correct

Both Statement | and Statement Il are correct
PART-1 (SECTION-B)

134.

135.

AA R FUTE
YA -1

v & M 9 B 21 U gl &R,
vF T U9, 3N U FEhe 49

%Y -1l :

Teh AIEgel &R N - TAZIAIEa a4 51 Y=g T
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(1) 29 99 | 3R T4 1197 2

(2) T |EE 9G] FYT || e £
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(4) I FAT | FE T 1 EE R

&Y -1 :

TeRatea o 20 Fiers frs wree e 78 o
21 a9 Jra9e I DNA g8 shifsrer & =) ®er siar 21

DYy -1l :

F3mes ¥ DNATR o) & aafyg s &1 st Ade 9
G EE]

i R fawet & 3 9 IR 9o
(1) e Fae | 3R o 19Tl 21
) T 198 T T e B
(3) T | & g O | R
@) B Fo | 3R w1 R
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This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

136.

Given below are two statements
Statement |:

The packaging of chromatin at higher level requires
additional set of proteins that collectively are referred to
as non-histone chromosomal proteins.

Statement Il :

Digestion with DNase did inhibit transformation,
suggesting that the DNA caused the transformation.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

T @ ¥ 1599 21 qemel 51 159701 & 3 &l ot
10 9% < Ihar 2| g werdt 109 sfs g &1
IR 2T ® a7l FRd g¢ T 1099 81 I st |

136.
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wY -l

DNase & 9= & 91 90T 9ishal 5= Bl oIl 21
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137.

138.

139.

140.

141.

In E. coli, during lactose metabolism, in absence
of inducer, repressor protein binds to :

(1
(2
(3
4

) Regulator gene

) Operator

) Structural gene

) Promoter

Given below are two statements
Statement |:

Stability as one of the properties of genetic material
was very evident in Griffith transforming principle itself
that heat which killed the bacteria, at least did not
destroy some of the properties of genetic material.

Statement Il :

In fact the presence of thymine at the place of uracil
also confers additional stability to DNA.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

If a sample of B-DNA containes 100000 Nucleosome

then what is the length of B-DNA sample :
(1) 0.68mm
(2) 6.8 mm

(3) 0.68cm
{4) Both 2 and 3

Corn borer is controlled by protein encoded by
gene

(1)
2
@)
(4) None of these

crylAc
crylAb
Both 1 and 2

The primers used during annealing step of PCR
are

(1) Polypeptides

(2) A type of nucleic acids
(3) Lipids

(4) Carbohydrates

137.

138.

139.

140.

141.

$0 HienE A Weh Y FERuf A deeisr AemifT &
R SR NE fhad serar 2:

(1) FHame =iq

(2) MR

(3) FCEATE S

(4) gHeX

T Ry g Fo
HYA -1 :

AT JeTY T T I9a v T fa9ar 21 5
oty & Tyt s & T 21 Fre a1 4 ey &
Yg B 9 21 AR sratie gerd ) g ey
T T B U B

6y -l :

arad % DNA ¥ fae & sre a1giH 29 @ 39 o
Sttt e e 21

i few fawedt & 4 98t Iw) 9
(1) 24 w9 | 3R F9 1197 2
(2) Fud |EE T FUF 11T B

(3) FF | T B g o IR R

(4) SR FF | 3T e 1w 2

3R T B-DNA T =T 100000 geriiaiaRT & &t
9 B-DNA -9 &I @IS 41 8h

(1) 0.68mm

(2) 6.8 mm

(3) 0.68cm

4) 23R 3T

AFHT Sod [ha o9 P 5 FiT 6d W wET @
Fraf=a s 2:

(1) crylAc

2) crylAb

(3) 132

(4) T & g

PCR@& d9reei =0T o G- 39aNT 6t SiM arer
WB’IHT%:

(1) dieideerssd

(2) T YR = ~gaedreh A

(3) feifaew

%

(4) FREEEE




142.

143.

144,

145.

146.

Thermostable DNA polymerase is taq polymerase.
Taq are related with

(1) Virus

(2) Fungi

(3) Bacteria

(4) Plant

How many matching are correct :

(a) Natural Genetic - E.coli

Engineer
(b) Natural Genetic — Agrobacterium
Engineer

(c) Plasmid — Extrachromosomal
DNA

(d) Alkaline pH — Required for
activation of
Bt Toxin

(1) Three

(2) Four

(3) Two

(4) One

How many matching are correct :

(a) ELi Lilly — Indian company

(b) ELi Lilly - Formation of Human
insulin

(c) Pro-Insulin — A - Peptide

(d) Pro-Insulin — B - Peptide

(1) Three

(2) Four

(3) Two

(4) One

Transgenic animals may be useful for

(1) Study of normal physiology and development
(2) Study of disease

(3) Producing biological products

4) Allof the above

'The integration of natural science and organisms
cells, parts there of, and molecular analogues for
products and services'

Above given sentence is

(1) Definition of bioinformatics
2)

3) Special method of tissue culture
(4)

(2) Definition of biotechnology
(

Special method for hybridisation
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147.

148.

149.

150.

Given below are two statements

Statement I:

Some plasmids may have only one or two copies per
cell whereas others may have 15-100 copies per cell.
Statement Il :

Plasmids and Bacteriophage have the ability to replicate
within bacterial cell indepedent of the control of
chromosomal DNA.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Which one of the following is wrong statement :
(1) Phosphorus is a constituent of cell membranes,
certain nucleic acids and all proteins
Nitrosomonas  and Nitrobacter
chemoautotrophs

Anabaena and Nostoc are capable of fixing nitrogen
in free-living state also

Root nodule forming nitrogen fixers live as aerobes
under free-living conditions.

Select the correct option for the given reaction

N=N—"-NH,

(1) Xis nitrogenase

(2) X presentin prokaryotes

(3) Xrelated with nitrogen metabolism

4 All

Which one of the following 4-carbon containing

are

compound forms in mesophyll cells :
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151. Which of the following is true During | 151. YehT9I G939l & <A 451 & @1 99 =

photosynthesis (1) 9T HRE TR 71 & & 997 909 - 919
(1) Several factors interact and simultaneously effect TEFEEISNT &) gAET e &

photosynthesis

Usually one factor is the major cause and limit the
rate

At any point the rate will be determined by the
factor available at suboptimal levels

All of these are true

(2) EFIFIT: T FRe &d FRT B 8 o o & @l
T el &

(3) fd ot g W &l 9% R wifaT = 2 S
o SURAT R W 3UAR B

(4) I o v &




152. What is not true about bundle sheath cells of
maize:

(1) They have numerous chloroplast

(2) Intercellular spaces absent

(3) Theirwalls are not impervious to gaseous exchange
(

4) Their walls are thick

153. Which one of the following is correct match for
pollen grain
(1) Exine — Innerlayer
(2) Intine —  Outer layer
(3) Exine — Continuous layer
(4) Intine — Made up of pectinand
cellulose
154. Which one of the following is the correct match
for fruits
(1) Fleshy — Papaya
(2) Dry —  Groundnuts
(3) Parthenocarpic — Seedless
4) All
155. Which one of the following is not related with ovule
of flowering plant
(1) Middle layers
(2) Nucellus
(3) Embryo sac
(4) Micropylar pole
156. Late blight of potato is caused by :
(1) Bacteria
(2) Virus
(3) Fungus
(4) Protozoa
157. Biopesticides are

(1) The chemicals which are used to destroy the pests

(2) The living organism or their products which are used

for pest control
(3) The organisms which destroy the crops

(4) None ofthese

152. et Al Sty wEma & vy A o9y g 6 @
(1) T 3] FARRS B &
(2) SR TIF FIeT 5 &
(3) =l Fifeear i e & e srarerg =18 B @
(4) Tt Tofedl AT Bt &

153. FefeRaa & @ a9 9 FTETar s & o wd 2

(1) areg 4 ~- R e
(2) F=T: = - 91y fyfeq
(3) areg 49 —  9aq Mka
4) = 9= — 9 SR HerET @
a1 BT
154. elaRad 4 Q4 @l 8 sqsudl wal & g 4d) @
(1) TR -
(2) T -
(3) s Bl
(4) =

155. Fr=fafad ¥ ¥ <19 i wiey & donvs ¥ wafia
T
(1) ¥ &R

(2) SvEFEY

(3) YurerIy
(4) SenegEd Ay
156. e A IS FRY A7 R B 2

(4) TSI
157. digEdEEe 8
(1) EgA Tt ITART 9% ) O & & ol B e

(2) SifaT oie a1 I 3 U g & 2Re STt
GRS

(3) oia st fF weell & @ g &
(4) I § FIE TN




158.

Select the correct statement for the given diagram

Generation | Generation II
UN-DNA " N-DNA A \

* N-DNA

|=(>
omn” RYRYRY o
" N-DNA
Gravalionsl lortt "' N-DNA
—— —
" V”N ! N "'N

Hyt: Ligh Hybrid
Leavy Iybrid ght Iyhrid

{Separation of DNA by Centrifugation)

159.

160.

161.

a. Related with hershey and Chase

b. Related with E. colf

c. ltis represents semiconservative replication
d. Heavyisotope used

(1) All

(2) b,c,d

(3) a,b,c

4) Onlyec, d

Which of the following disease is not an air borne
disease

(1) Pneumonia

(2) Filariasis

(3) Common cold

(4) None of these

Select the correct option for the given diagram

1 peak gets higher
and narrower

(1
(2
(3
4

Stabilising type of natural selection
Disruptive type of natural selection

Directional type of natural selection

s w2

None of these

Which one of the following are not a extinct animal
(1) Brachiosaurus
(2) Stegosaurus

(

3) Pelycosaurus

o e e e

(4) None of these

158. 23 A o = fore ad e &1 wae AR

. 30 FIWE ¥ GHEluT
TE gefeelt gRifoas i eiia we @ e
NI 3TSEICIT 1 TERT
(1) All
@ b, c, d
(3) a,b, c
4) ®ad ¢, d
159. for=ifeifas A & =l ag@itE Qw8 2
(1) =gafar
(2) wrEeReiEE
() wrrg FH
(@) =r$ &
160. A 1 = & fore v ey &1 997 Ffse

a0 oo

(1) SIAFRF THR H I =g
(2) T9eReE YR &1 YIgfas =g+
(3) Tewrerer 9K 1 qrebidF =g

(4) g 7
161. Frfafag & A =l v faga o 781 @
(1) sifrarare
(2) =EmErE
(3) U
(4) g el




162. Which one of the following hormones is involved

163.

164.

165.

in sugar metabolism?

(1) Insulin

(2) Glucagon

(3) Cortisone

@) All

Given below are two statements

Statement |:

Closely located genes assorted together and distantly
located genes, due to recombination assorted
independently.

Statement Il :

Many genes were linked to sexes also and called sex-
linked genes.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct
Given below are two statements

Statement |:

In down syndrome palm is broad with characteristic
palm crease.

Statement Il :

In down syndrome and klinefelter syndrome number of
chromosome are same.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |:

The thalassemia could be due to either mutation or
deletion which ultimately results in reduced rate of
synthesis of one of the globin chains (o and [ chains)
that make up haemoglobin.

Statement Il :

Due to haemophilia in an affected individual a simple
cut will result in non-stop bleeding.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
)
(3)
(4)

Statement | is correct but Statement |l is incorrect
Statement | is incorrect but Statement Il is correct
Both Statement | and Statement |l are correct

162.

163.

164.

165.

frefefaa A @ =1 ar s/l o0 & e & 9T
odr 21

(1) ggfer
(2) TR
(3) wreraH
@) =
Y -1:

319 rd e WA U A1y R S 3R BE SIK gy
Gﬁ?ﬁ%gﬁw‘rﬁ“ﬁsﬁwmﬂa F9egeA =T frar

@%Gﬁﬁ%ﬁ%ﬁ@%%l 3 79 TE 9 T daa
Fedd 2

W Ry fawent & @ @t IR 97

(1) B9 &9 | 3K Y 1179 2

) FUF |98 T F e B

(3) FUT | T & o] o |1EE 2

4) ) T | 3R T 1€ 2

Y -1

B3 a2 o S) el ¥ STeefiTR 9w A B R
&Y -1l ;

Wﬁ%ﬁqsﬁ?aﬂmﬁ?ﬁ%ﬁﬂﬁwaﬁw
A Bl B

ﬂﬁ%ﬁqﬁﬂwﬁﬁﬂaﬁaﬂtgﬂ
) TR Y | 3R I 2
(2) T 198 T U |1 e 2
(3) T 19T B g O I R
(4) 2 o | I o |IEE R

A Ry gt Fu 2 -

YA -1

TG fasR a1 91 SaRadH g fasies & gk

& 3~ B 2 | forerl Sefa a9 e wfs R

gﬁww (aQF B ) FT TG T H F I A
|

Y -l :

BT & RO 38 Afed & I F OF SIET 4
A F o TR FT FFaT o & T8 B |

= Ry fawe)’ ¥ @ 96 I

(1) 39 FYF | 3R FY 11T 21

(2) FyF |98 9og FY |l Ted =

(3) T | & W] o |IEE R
@) 2 o | 3 o I B




166.

167.

168.

Given below are two statements
Statement I:

In addition to recombination, mutation is another
phenomenon that leads to variation in DNA.

Statement Il :

UV radiation can cause mutation in organisms. It is a
mutagen.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |:

Deletions and insertions of base pairs of DNA, causes
frame - shift mutations.

Statement Il :

In honey bee the numebr of chromosome in queen and
worker are same.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
Given below are two statements

Statement |:

Further investigation by other scientist led to the
conclusion that the X-body of henking was in fact a
chromosome and that is why it was given the name X-
chromosome.

Statement Il :

Today genetic maps are extensively used as a starting
pointin the sequencing of whole genomes as was done
in the case of the human genome sequencing project,
describe later.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct
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169. Given below are two statements
Statement I:

Platelets also called thrombocytes are cell fragments
produced from megakaryocytes.

Statement Il :
Platelets are involved in the coagulation of blood.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
170. Assertion (A) : The Human Heart are myocgenic type

Reason (R): In Human Heart intercalated disc are
present

(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)is true but (R) is false

(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

171. The process of oxidative phosphorylation takes
place in :

(1) Mitochondria
(2) Chloroplasts
(3) Ribosomes
(4) Cytoplasm
172.Which is the connecting link between glycolysis
and Kreb's cycle :
(1) Iso-citric acid
(2) o-ketoglutaric acid
(3) Glucose
(4) Acetyl Co-A
173. In our digestive system during digestion of nucleic
acid the given below reaction are takes place :
Nucleic acidsL)NuclemidesLNucieosides

In the given reaction X and Y are specific pH at
which reaction are takes place. X and Y
respectively are :

(1) 4-6,7-9
) 7-8,7-8
) 2-4,7-8
4) 7-8,11-12
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174.

175.

176.

177.

178.

In tissue pO2 and pCO2 are respectively :
(1) 45 mmHgand 40 mmHg
(2) 40 mmHgand 45 mmHg
(3) 40 mmHgand 40 mmHg

(4) 45 mmHg and 45 mmHg

Which one of the following pairs of food
components in human reaches the stomach totally
undigested :

(1) Starch and fat

(2) Fatand cellulose

(3) Starch and cellulcse

(4) Protein and Starch

If the sequence of m-RNA is

AUGUUUCUUAUUAUAUCU

Then what is the sequence of amino acid in
polypeptide chain :

(1) met-Phe-Leu-lle-lle-Ser

(2) met-Leu-Phe-lle-lle-Ser

(3) met-Leu-lle-Phe-lle-Ser

(4) met-Phe-Leu-lle-Ser-lle
Given below are two statements
Statement I:

The mammary glands of the female undergo
differentiation during pregnancy and starts producing
milk towards the end of pregnancy by the process called
lactation.

Statement Il :

The milk proeduced during the initial few days of lactation
is called colostrum.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct

Given below are two statements
Statement I:

Lymph is also an important carrier for nutrients and
Hormones.

Statement Il :

Fats are absorbed through lymph in the lacteals present
in the Intestinal villi.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct
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179.

180.

181.

182.

183.

Which disease is related to the discovery of
gibberellins:

(1) Minamata disease

@)

(3) Bakane disease

)

In human male reproductive system, secretion of

which gland constitute the seminal plasma :

(1) Paired seminal vesicle, paired prostate, a
bulbourethral gland

(2) Paired seminal vesicle, a prostate, a bulbourethral
gland

(3) A seminal vesicle, paired prostate, paired
bulbourethral gland

(4) Paired seminal vesicle, a prostate, paired
bulbourethral gland

Citrus canker

Black rot of cabbage

Given below are two statements

Statement |:

The process of plasmolysis is usually reversible.
Statement 1l :

Imbibition is also active transport since water movement
is against a concentration gradient.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct
(4) Both Statement | and Statement Il are correct

In mycorrhiza function of hyphae :

(1) Protecticn of algae

(2) Absorb mineral ion and water from soil

(3) In photosynthesis

(4) All of these

Evaporative loss of water by plants is called :

(1) Bleeding

(2) Ascent of sap

(3) Transpiration

(4) Guttation
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184.

185.

Recombination is completed in which phase of
meiosis:

(1) Leptotene
(2) Zygotene
(3) Pachytene
(4) Diakinesis

Which one of the following event are not related
with meiosis |

(1) Splitting of centromere
(2) Synapsis

(3) Cytokinesis

(4) Recombination

PART-2 (SECTION-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

186.

187.

188.

189.

In cocytes of some vertebrates which stage can
last for months or years

(1) Diplotene
(2) Pachytene
(3) Diakinesis
(4) Leptotene

Select the correct option, which represents the
homopolysaccharides made up of glucose
monomers:

(1) Sucrose, lactose, maltose

(2) Chitin, glycogen, starch

(3) Starch, inulin, peptidoglycan

(4) Starch, glycogen, cellulose

Which one of the following is not correct regarding
the endomembrane system :

(1) Formed by those organelles whose functions are
well coordinated

It consist of endoplasmic reticulum, microbodies
and peroxisome

It consist of endoplasmic reticulum, golgi complex,
lysosome and vacuoles

(4) Both1and 3
What is the NAD and NADP :

(1) Coenzyme

(2) Cofactor

(3) Vitamin containing chemical
4) All

(@)
(3)

184.

185.

qHageF stiEfaTem @ fne graen ¥ dar
(1) weaifes
(2) s
(3) dfepfes
(4) S
Freefeftaa & 3 a9 9 weqr, adad fves 1@
gt 2 21
(1) A =g &1 3= B
(2) wrEAfeas
(3) Hifdrerree e
(4) Repramae
T2 (EvE-B)

g | ¥ 15739 21 qdemdf 57 15970 9 & =l oft
10 95 < Ghdl 21 gfe qderdt 109 sftrw g1 &1
IR A1 2 A ol R g€ I 10 9% & W=7 B

186.

187.

188.

189.

6 al8cd B Fuged A w9 9 L w8 a1 gt
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(1) R=rd=

2) dEH

(3) SEHTEARE
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190.

191.

192.

193.

194.

195.

Which of the following cells do not have nucleus
at maturity :

M
@)
3)

Mature erythrocytes
Sieve tube cells
Both 1 and 2

(4) Lysosome

A leaves have surface area 10 cm? after some time
due to growth their surface area increased and
finally 15 cm2.What is the % of relative growth rate:

(1) 25%
) 50 %
3) 33.3%
(4) 66.6%

Generally after fertilisation the sepals, petals and
stamens of the flower :

(1) Wither and fall off

(2) Grow and become enlarged
(3) No clear idea about this

(4) Colour become changed

A common character of dicot stem and dicot root
is

(1
2
(3) Occurrence of secondary growth

@) Al

In which plants the gametophytic phase
represented by single to few celled haploid
gametophyte

Exarch protoxylem

Endarch protoxylem

)
)
)
)

(1) Sphagnum

(2) Spirogyra

(3) Sequoia

4) Salvinia

Sporophytic generation is represented only by the
one celled zygote. There are no free living
sporophytes. Meiosis in the zygote results in the
formation of haploid spores. This kind of life cycles
is termed as :

(1) Haplo-diplontic
(2) Haplontic
(3) Diplontic

(4) May be diplontic or haplontic

190.

191.

192.

193.

194.

195.
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(1) 25%

2) 50 %

(3) 33.3%

(4) 66.6 %
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196.

197.

198.

199.

200.

Which one of the following is correct statement
(1) ABA act as an antagonistics to auxin

(2) ABA act as an antagonistics to GA

(3) Ethylene is also called stress hormone

(4) GA stimulates the closure of stomata

The BSE is

(1
2
3
(4

) Bacillus special encephalopathy

) Bovine special encephalopathy

) Bovine spongiform encephalopathy

) Bovine sterile encephalopathy

Eucalyptus, Sphagnum, Ginkgo, Sequoia,
Polysiphonia, Selaginella, Pteris.

How many members have pollen grain:

4) 3

Given below are two statements
Statement |:

A fertile stamens is called staminode
Statement 1l :

When stamens are attached to the sepals, they are
called epipetalous as in brinjal.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement |l is correct

(4) Both Statement | and Statement Il are correct

In laboratory a scientist working on human cells
culture, He observed on a single human cells then
after 10 days how many human cells are formed
through division in laboratory :

(1) 2048
(2) 4096
(3) 512
4) 1024

196.

197.

198.

199.

200.

Frafafaa & @ =i a1 5 94 2

(1) ABA 3ifee & forw fatiers &t aes &/ e 21
(2) ABA GA = forw feliuer &1 5t & & 21
(3) wAferT T T BFI 3 FEd B

(4) GAT & 7% B I Taned e 71

BSE 2|

1) Bacillus special encephalcpathy

2) Bovine special encephalopathy

Gedsr GRS SRk

3) Bovine spongiform encephalopathy

—_

4) Bovine sterile encephalopathy

gepferca, wharmr, R, Rman, weiarssiar
Reifomen, 2Ra 1

T & R gew T ST W @
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2) 4

3) 5

4) 3
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(1) =4 w99 | 3 9 119 21

@) FYF |FE T FU e 2
(3) T |9Terd B T U 114G B
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PHYSICS

SECTION-A
@ [NCERT-395]
oa _1
Given— =3
ven g 2
K, =hf =9 (1)
Ki, = 2hf - ¢g (2)

from Eq. (1) and (2)
Ex, =2[Ex, +0a]l-20a [ ¢g =2¢4]

Bk, = 2Bk, + 20 — 20,

EK1 1
:> iR

EK2 2
3) [NCERT-I-104]
4) [NCERT-I-292]
H= Tz — TI _ TQ — TI

" R,+R, _( X, 4x }
KA  2KA

= @[T —T ] =K = 1
C3x 2 3
(3) [NCERT-326]

As piston is free to move. On increasing temp, gas
molecules will tend to increase pressure, due to
pressure difference from surrounding, piston will move
up to keep the pressure of gas equal to pressure of
surrounding.

So P = const.

V = increases

4) [NCERT-I-122]
4) [NCERT-I-312]
TV'!= constant for

sudden or adiabatic process

)
8
T = 300 x (2% = 1200 K

or 927°C
(1) [NCERT-I-78]

1

w|;

5
~ 300(V)*

61 +6, =907
R, =R,

SECTION-A
2) [NCERT-395]
Rart =,

Ky, =hf—b, (1)

Ky, = 2hf - g (2)

T (1) 3K (2)F

Ex, =2[Ex, +0al-20a [ ¢g =204l

Ex, = 2Bk +205 — 204

EK1 1
= —
Ex, 2
3) [NCERT-1-104]
4) [NCERT-I-292]
_ T:: — Tw _ T? — T1
TR+R, [ x L X
KA 2KA
KAir 1 ==
R 3
3) [NCERT-326]

1T M T VRN FT 2@ 9, 9 9 &1 2w fga
A T T

P =faa
V = =

(4) [NCERT-1-122]
(4) [NCERT-II-312]
TV =tz &

(T I & fore)

i

T =300 x (23)23 = 1200 K
927°C
(1) [NCERT-1-78]

1

w |t

5,
— 300(V)?

8, + 0, = 90°
Ri=R,




10.

1.
12.

13.

14.

15.

16.

(1)

On increasing the temperature thermal speed of free
electrons increase hence relaxation time decreases,

and so resistance increases.

m I
¥z
a8 nréz ) A

3)
(1)
Theoritical
2)
(1)

A

A+B. ATB

()

Current sensitivity = <

f, [B, B, [‘10]2
- - DN L 8|
L Y8, 03 |5

(3)

[NCERT-96]

[NCERT-1-110]
[NCERT-II-474]

[NCERT-494]

[NCERT-178]

B, =1.2gauss, AB=B, -B; =1.2-0.3 =0.9 gauss

[NCERT-314]

Convex mirror formes small and errectimage

2)

1 u-1

f 2R

105

10 2R

R=10cm

O

1 -2 1 2 1
—_— e+ = - —
feq i fn 10 +5
f.=2.5cm
u=2fr=—5(:m

[NCERT-326]

10.

1.

12.

13.

14.

15.

16.

(1

[NCERT-96]

A9 FeM T a1 g7 fomd 72w 3 foier sam|

m i
as R = (k
3)
M
GG
2
M

(3)

5

B ﬁ:ﬁ_(mf%

f. \B, 03

[NCERT-I-110]
[NCERT-I1-474]

[NCERT-494]

[NCERT-178]

B, =1.2gauss, AB=B, -B;=1.2-0.3 =0.9 gauss

3)

[NCERT-314]

IAd o ¥ SIET 3 Gen wiafee s9ar 21

)

1 -2 1 2 1
—=— +

foq

f.=2.5cm
u= 2fr =-5cm

o

_ﬁ +5

[NCERT-326]




17.

18.
19.

20.

21

22,

23.

24,

25,

26.

27.

@ [NCERT-175]

Since the inclined plane is frictionless, then there will
be no rolling and the mass will only slide down

Hence acceleration a = g sin g is same for solid sphere,
hollow sphere and ring.

(1) [NCERT-1-91]
4) [NCERT-1-195]
T? e« r®
Li r 3/2 [4RTIZ

, \n) AR
= L =8 =T,=8T

T
(3) [NCERT-I-268]
(3) [NCERT-II-19]
mga, = eE (i)
m,a,=ekE ..(ii)
LS
a, m,
) [NCERT-76]
Vag = 2V, + v, _ 2x40x60 = A
Vi + Vs 40 + 60

(2) [NCERT-382]

v 4v - £ 3
2x4f, 20, ¢, 8
(2) [NCERT-1-244]
Theoritical
2) [PYQ]

Breaking Force = nir?
(3) [NCERT-1-334]
Both are Diatomic

(1) [NCERT-lI-364]

100D
Yy = q

D Y

Yz =] v, 7,

17.

18.
19.

20.
21.

22,

23.

24,

25,

26.

27.

)

[NCERT-175]

EE T TR & 31 Ous Saer A Rawa, i

& |

37H: TROT @ = g sin @ e, Qe e 3T St & forg

FHH B
)

[NCERT--91]
[NCERT--195]

@3) [NCERT-1-268]
3) [NCERT-II-19]
m,a,=ek ..(i)
M8 = eE  ..(ii)
g _ M
p m,
@) [NCERT-76]
Vag = 2vy+v, _ 2x40=60 _ 48Kkm /h
Vi+ VY, 40 +60
@) [NCERT-382]
W4 43
2><4.(;1_2€2 {, 8
2) [NCERT-I-244]
LEE GED
@ [PYQ]
ATATA o 2
3) [NCERT-I-334]
I fRaeE €
(1) [NCERT-I1-364]
_10%.D
17 T
L
o d Yo A




28.

29,

30.

31.

32.

33.

34.

35.

(3) [NCERT-241]
When energy is equally divided between capacitor and
inductor, then

i _ lmax and Q — Qmax

V2 J2
(1 [NLI - Expert]
Theoritical
(3) [NCERT-348]

) [NCERT-I-104]

2

tanb =" = c:\/rgtane :J90x10xtan45
rg

(4) [NLI - Expert]
Vv _10-V
500x1000 500
500+1000
(2) [Pre Year]
Mv = h_v
G
. 2 D
=1|V|V2=1Mhl =hV2
2 2 \Mc 2Mc
(2) [NCERT-17]
non-zero and uniform
(3) [PRE YEAR]
N —hoctac
N, ©
ND/,’Z = e—n t
NO
1 ho
=—=¢g
2
1
E = ?«.K X 30
,2= E

28.

29,

30.

3.

32.

33.

35.

)

[NCERT241]

I Tl SR 3 = | 9o &7 @ e 2R AW,

Imax and Q — Qmax

V2 V2
M
LEERED
)

[NLI - Expert]

[NCERT-348]

[NCERT-1-104]

tanb = ¥
rg

(4)
vV o 10-V
5001000~ 500
500+1000

(2)

= ¢ =,frgtan6 = /90 x10 x tan 45

[NLI - Expert]

[Pre Year]

[NCERT-17]

[PRE YEAR]




36.

37.

38.

39.

40.

41.
42,

Section -B
2) [NCERT-I-136]
F710><5><4: 10x5%x6- 1OX5X47
~ 100 100 100
= 4+ 3]
|F|=5N
(2) [NCERT-I-193]
300%12%x10° =Tx18%10°
T = 200K
() [NCERT-165]
(55
s = |
S+G
lg_ S 1__s
o 1 "s+6 34 s+c
-8 _FE68 g
33 33
) [NCERT-320]

Here angle of incidence is 45° & rays is internally
reflected.

1
n-=—
sin C

For TIRi > C, for minimum n,

i=C,n= 1 32
sin45°
(2) [NCERT-1-172]
2kgm? x [60 2 rad/ s
. [A_(D B g [60 x 60 ]
t 60 s
- "N-m
15
(3) [NLI - Expert]
(2) [NLI - Expert]
at given
moment

B Q —1i
. A few sec.

B is moving upward

y (X;t) = Asin (kx — et)
=Asin (ot — kx + 1)
atx =0phase=n

x T phase |

36.

37.

38.

39.

40.

41,
42,

Section -B

) [NCERT-]II-136
F710><5><4: 10><5><6:+1D><5><4i
100 100 100
= 4i+3j
|F|=5N
@) [NCERT-1-193]
300%12%x107° =Tx18%10°
T = 200K
@) [NCERT-165]
| ( S,
8 1ls+06
lg_ S 1_ s
o " "s+a o34 siG
-8 _B668 1o
33 33
@) [NCERT-320]
HTGT FOT 45° BT FR F=Ih T BN
1
n=—
sinC
TIR& forw i > C, =¥ n & form,
. 1
i=C,n= :\/5
sin45°
@) [NCERT--172]
Zkgm? x[GOxErad/ s]
. 60
TR 60 s
= B i1
15
3) [NLI - Expert]
(2 [NLI - Expert]
— e 9

B 3T i TF o & 2|
y (x4t) = A sin (kx — ot)
= Asin (ot — kx + n)
atx=0phase=n

xT phase |




30 [NCERT99] | 43. (3) [NCERT-99]
Tp = Mo X (g+a) = (3+5) (10+10) = 160 N Tp = Mgy X (g*a) = (3+5) (10+10) = 160 N
4. (3) [NLI - Expert] 4. (3) [NLI - Expert]
45. (1) [NCERT-I-252] | 45. (1) [NCERT-I-252]
V =cos wt = 5 sin (wt + 80°) V = cos wt = 5 sin (wt + 90°)
| =2 sin ot | =2 sin ot
-~ $=090° . §=90°
P=V__I|, . cosd P=V__1_.cosd
L P=0 . P=0
46. (1) [NCERT--334] | 46. (1) [NCERT-1-334]
47. (2) [NLI-Expert] | 47. (2 [NLI - Expert]
48. (3) [NCERT-I95] | 48. (3) [NCERT-11-95]|
V=iR V=iR
(- L 10 =t 10 ok
R 5 R 5
49. (4) [NCERT-81] | 49. (4) [NCERT-81]
1 GG, 2 1 GG 2
——— 2 (V, -V A o AT,
energyloss—2(01+c2)( 1= V) mw—2(01+02)( 1= Va)
12 12
= 1%106(20004000)2 = 1%106(2000 ~1000)?
2 (5+5)x10 2(5+5)x10
_2x0x 15y o5y _8x8x1_5 405,
2x10 4 2x10 4
50. (4) [NCERT-191] | 50. (4) [NCERT-191]
—de : , —do
E= T with increases in speed, E increases. E= T i) E#E‘:f R, Eaéfrr

i = E/R also increases ; 1 = dq/dt ; dg = Idt

|—d
dt

|
Q= jdq = indpendent of time

Q remains the same

i = E/R T 9¢9t ; 1 = da/dt ; dq = Idt

R R dt

dt

—d
Q= qu—ldt(plwirgaﬁ‘%

QEHH @M




CHEMISTRY

SECTION-A SECTION-A

51. (4) [NCERT-XII-372] | 51. (4) [NCERT-XI1-372]
Acetophenone shows aldol condensation. VAN el 99 weldla ar B
Acetophenone contains Carbonyl group. VAT 3 e @9 Bl 8 |

52. (3) [NCERT-XII-18] | 52. (3) [NCERT-XII-18]
Generally cation go to void and anion form the AW UAEe R & S 2 i) SR Sew
lattice. I

53. (3) [NCERT-XI-394] | 53, (3) [NCERT-X1-394]
CH= CH>CH,—-C = CH>CH_=CH,>CH -CH, CH=CH>CH,~C=CH>CH,=CH_>CH —CH,

It is on the basis of % s-character, or % s-ﬁrﬂﬁ?ma?ﬁ?ﬁﬁ'gﬁm 3k —CH
electronegativity of carbon and +l effect of -CH, ¥
—— &+ TN B HUR R 2

54. (3) [NCERT-XII-194] 54. (3) [NCERT-XII-194]

S4O627, 820327 84062_’ 82032_
The structure of the respective anion is as follows grfud gl & 9o 39 9RR § -
I | ] | I
0-5-5-5-5-0 and 0-5-0 0-5-5-5-5-0 R 0-$-0
0 0]

55. (4) [NCERT-XI-120] | 55. (4) [NCERT-XI-120]
02+ > OZ P 027> 0272 (:)2+ - OZ ~ C)27> C)272

56. (2) [NCERT-XII-255,256] | 56. (2) [NCERT-XII-255, 256]
[Ni(CN),I*- [Ni(CI),J*- [Ni(CO),] [NI(CN),J= [Ni(CI),J* [Ni(CO),]
u=0 tetrahedral diamagnetic n=0 ERE e EIERELIR]

57. (2 [NCERT-XNI-228] | 37- (2) [NCERT-XII-228]
Using magnetic moment expression which is TEH 0T FAAfFT HT TR FRAT E =
magnetic moment = \/n(n 12) n(n+2)

Where “n” is number of unpaired electron in the W& ‘0" B T TR W" e B
given unit. B

58. (3) [NCERTXI-193] | 38 ) [NCERT=XEISY
Increase temperature on equilibrium ST T A 92T R

59, (4) [NCERT-XI-274] | 99 ©) R [NCERT-XI-274]
The balenced equation is Frgeil 3 T &

2]\/".]04 +5C7Oi +16H — 2Mn<2 +1OCO? + SHZO 2{\/"”0‘5l e 5()705 +16H — 2Mn™ + 10CO, + SHZO
60. (2) [NCERT-XI1-301]
60. (2) [NCERT-XII-301]
SN? gfaferar
SN2 reaction

61. (2 [NCERT-XII-198] bl [ [NGERT=MI=128]

_dlA] _1d[B] _dA] _1dB]
dt 2 dt dt 2 dt
62. (1) [NCERT-XI-391] | 62, (1) [NCERT-XI-391]

Reductive ozonolysis.

31TET 3SAFIERLT




63.

64.

65.

66.

67.

68.
69.
70.
71.

72.

73.
74.
75.

76.

77.

78.

79.

(4) [NCERT-XI-200]
Adding reaction (i) and (ii) gives (iii)
(1) [NCERT-XI-335]
(1) [NCERT-XI-18]
(1) [NCERT-XI-215]
NH, +H*— NH,
2) [NCERT XII-11-332]
CH,
H3C—(|)—O—O—H
Ais

Cumene hypoperoxide

(1) [Modi. NEET]
(3) [NCERT-X1-217]
(4) [NCERT-XII-222]
(1) [NCERT XIlI-1-74]

Use the reaction

AGe =-nFE®°

(n=2)
(1) [NCERT-XI-344]

(CH,),CH-CH=CH-CHOH-CH,
5-Methylhex-3-en-2-al

(3) [NCERT-XI-118]

(2) [NEET-2021]

(3) [NCERT/XII/362]
Rosenmund reduction - H,+Pd -BaSO,

4) [NCERT-XI-20]
3 BaCl, + 2Na PO, — Ba (PO,), +6NaCl

mole 0.5 0.2 0.1

4) [NCERT-XII-106]
tyyz = 2522

K
W] [NCERT/XI-151]

Ideal gases do not have any force of attraction work-
ing among the molecules of gases.

() [NCERT-XII1-69]
0 0
E=E +E
Zniznt?  Agti/Ag
E=0.76+0.8
E=156V

63.

64.
65.
66.

67.

68.
69.
70.
71.

72,

73.
74,
75.

76.

77.

78.

79.

@ [NCERT-XI-200]
gﬁm ()& (ii) T S SR (iii) i g =i
2 |
1) [NCERT-XI-335]
(1) [NCERT-XI-18]
1) [NCERT-XI-215]
NH, + H* — NH,
(2) [NCERT XII-1I-332]
CH,
H3C—(!7—O—O—H
A=
Cumene hypoperoxide
(1) [Modi. NEET]
(3) [NCERT-XI-217]
@) [NCERT-XII-222]
(1) [NCERT XII-I-74]
siTTeRar waT
AG® = —nFE®
(n=2)
1) [NCERT-XI-344]
(CH,),CH-CH=CH-CHOH-CH,
53fer BeFa-33-2-31eT
(3) [NCERT-XI-118]
(2) [NEET-2021]
3) [NCERT/XIl362]
YA 3T997 — H,+Pd — BaSO,
(4) [NCERT-XI-20]
3BaCl, + 2Na,PO, - Ba,(PO,), +6NaCl
mole 0.5 0.2 0.1
4) [NCERT-XII-106]
Lz = o
K
)] [NCERT/XI-151]
et A4 ¥ A4t = 3op3 F fa FE FA Gl w
STFYOT I T8I e 2
(1) [NCERT-XII-69]

0 0
E=E +E
Zn/izn™@  Ag'iAg

E=076+08
E=156V




80.

M

[NCERT-XII-380]
CH,CF,COOH > CH,CCl,COOH > CH,CBr,COOH

81. (3) [NCERT-X1I-401]
CH3CHoNH, — S8 ohacHoNG
< & KOH &
82. (4) [Modi. NCERT]
CaCy + HpO s CoHp — 12594 chacHo
HgSO4
83. (3) [NCERT-XI-55]
84. (4) [NCERT-XI-322]
85. (1) [Modi. NEET]
SECTION-B
86. (3) [Modi. NEET]
NH, is more basic.
87. (4) [NCERT 123]
According to Freundlich adsorption isotherm,
i — kpﬂm
m
Taking log on both sides,
X 1
log| — |=logk +—logP
m n
88. (3) [NCERT 84]
w_ 2.
E_F
89. (3) [NCERT Exemplar]
Both O, and Xe have almost same ionisation
enthalpy
90. (2) [NCERT/XII-154]
A soluble complex is formed by reaction between
NaCN and ZnS while PbS forms froth.
91. (2) [Mod. NEET]
o
+M effect by OH.
92. (4) [NCERT-X11-409]

Reducing sugar —
Glucose
Maltose
Lactose

80. (1) [NCERT-XII-380]
CH,CF,COOH > CH,CCLCOOH > CH,CBr,COOH
81. (3 [NCERT-XI1-401]
CHaCHoNH, — CPCB e cHoNG
KOH
82. (4 [Modi. NCERT]
CaCp +Hp0 — CoHp — 12594 cpacHo
HgSO4
83. (3) [NCERT-XI-55]
84. (4) [NCERT-XI-322]
85. (1) [Modi. NEET]
SECTION-B
86. (3) [Modi. NEET]
NH, 3 & 21
87. (4) [NCERT 123]
FeEioldh AFINNT HEEEH & AR
i . kPh‘n
m
T TWF log o T
X 1
Iog() =logk +—logP
m n
88. (3) [NCERT 84]
w_a,
E F
89. (3) [NCERT Exemplar]
0,7 Xe TA! ST M G oll T 2|
90. (2) [NCERT/XII-154]
NaCN 3t ZnS & &9 JTfrar & Joriia a5
T § ST PbS #AT ST B
91. (2
@/OH
+M T OH BRI
92. (4) [NCERT-XI1-409]
FEE wEHa
* [N
|
. Fa




93.
94,

95.

96.
97.

98

99.

100. (4)

4) [NCERT-XII-287]
(@) [NCH]

CO : Neutral

BaO : Basic

AL O, : Amphoteric

Cl,0, : Acidic
(1) [NCERT-XI-317]
(1) [NCERT-XII-456]
(2) [NCERT-XI-298]
(4) [NCERT-XI-284]
(4) [NCERT-X1-415, 416]
Statement I

Clean water would have BOD value of less than 5 ppm.
Statement |1 :

Excess nitrate in driking water can cause disease such
as methemoglobinemia.

[NEET-2016]

93.
94,

95.

96.
97.

98

99.

100. (4)

() [NCERT-X11-287]
(4) [NC-I-]

CO : Je™H

BaO : endy

ALO, : 3¥ERT

Cl,0, : 3FT
1) [NCERT-XI-317]
(1) [NCERT-XII-456]
@ [NCERT-XI-298]
(4) [NCERT-XI-284]
@) [NCERT-XI-415, 416]
HY I

€ W T BOD M 5 ppm & &4 BT = |
Fg |l :

T F ot ¥ g A S F A S
fomma 2t a2

[NEET-2016]




BIOLOGY

SECTION-A—(PART-1)

SECTION-A—(PART-1)

101. (4) NC(I)-268]
(1) Mollusch — Branchial respiration
(2) Fish - Gills

(3) Mammals -

102. (1)

Pulmonary respiration

[NC-1-282]

In fishes the heart pumps out deoxygenated blood
which is oxygenated by the gills and supplied to
the body parts from where deoxygenated blood is
returned to the heart (single circulation).
103. (4) [NC-1-293]
Statement I:
The efferent arteriole emerging from the glomerulus
forms a fine capillary network around the renal tubule
called the peritubular capillaries.

Statement Il :

Vasa recta is absent or highly reduced in cortical

nephrons.

104. (4) [NCA-306]
The given diagram is meromyosin or myosin
monomer.

105. (4) [NCA-309]

Figure 17.6 Diagrammauc view of human skull

106. (1) [NC-1-19, 30 to 40]
Fungi, Animal do not have chlorophyll

Plantae and some bacteria, some protista have
chlorophyll.

Cyanobacteria — chlorophyll a
Kingdom plantae — variety of chlorophyll
* Nostoc, Anabaena — Cyanobacteria

» Chlamydomonas, Chlorella, Euglena are
chlorophyll containing protist.

+  Volvox, Fucus, mustard, Eucalyptus, Ectocarpus
— Plant Kingdom.

101. (4) NC--268]
(1) Hrerew I
(2) W - fiew
(3) =T ~ I e

102. (1) [NC-1-282]

e — AT 'R — fiew — siedisd
FHU —> IR & 9FT F — AT R — g
| 98 Uhe qRE=RoT B
103. (4)
Y -1
=5 ¥ e aTell AIIET GMi-eT, JEFhig wierent &
IR AR GeT DIE F T a5 o aRefe
T w5 B

HY -1l

FeRc WA A T T A1 A IR a1 st
BIeT BT 21

[NC-1-293]

104. (4) [NC-1-306]
fear r ferg ATAIRE 3T AN A9ER F
2|

105. (4) [NC4-309]

for 17.6 o w1 Wil w1

106. (1) [NC-I-19, 30 to 40]

FARR Safyd - Faes, TARtenar

AR Ra - R a

AT, TAEAT - Argee e

FAMTESAAE, Feliel - FeRIthel T ara e

I, FIFEEIECH

T SR - FRihe SR

e I - AT, e, W, e e,
TEFIHE




107. (4) [NC-I-112to 115] | 107. (4) [NC-1-112to 115]
Statement I: YT -1
In cockroach each compound eye consists of w : ; .
ommatidia I # T g - A o et 397 i 2
Statement Il : &Y -l
Anal cerci present in both male and female cockroach T T S TEr S w3 T e
108. (1) [NCERT-I-101,112]
108. (1) [NCERT--101,112]

The columnar epithelium is composed of a single
layer of tall and slender cells. Their nuclei are lo-
cated at the base. Free surface may have microvilli.
They are found in the lining of stomach and intes-
tine and help in secretion and absorption.

109. (1) [NC-I-11]
TabLE 1.1 i1 with their T Categ;
Common Biological Genus Family Order Class Phylum/
Name Name Division
Man Homo saptens Homo Hominidae Primata Mammalia Chordata
Housefly Musca Musca Muscidae Diptera Insecta Arthropoda
domestica
Mango  Mangfiera  Mangtfera Anacardiaceae Sapindales Dicotyledonae  Anglospermae
tndlea
Wheat  Trittcum Trittcum ~ Poaceae Poales Monocotyledonae Anglospermae
aestium
110. (2) [NCERT--59]
Given diagram is of Macropus which is the members
of Chordata.
M11. () [NCERT--50]

The given diagram is Cnidoblast which is present
in phylum Coelenterata.
112.(1) [NCERT-I-81]
The given diagram is floral formula of family liliaceae
Liliaceae — Tulip, Gloriosa, Aloe, Asparagus,
Colchichum
[NCERTA-78-81]

Bisexual flower — solanaceae, fabaceae, liliaceae,

113. (4)

Bressicaceae
[NC-1-104,309]

Bone narrow is the site of production of erythrocytes

14. (1)

In bone Ca salt are present.
Skeletal system are involved in locomotion.
[NCERT-I-89, Mod. NEET 2011]

All tissues except epidermis and vascular bundles

115. (1)

constitute the ground tissue.
116. (2) [NCERT--97]

Continuous wavy ring cambium formed in dicot root

iR o A F A= 3 g 8 B 2

109. (1) [NC--11]
A1 1.1 AR Tt Atz F7 A=
T s = ™ Lt =i T
i wEE e Sl et ] famn T s
ki
110. ()
[NCERT-l-59]
fear wor forg w6 B o foE WY SRer & gew
21
11. (2) [NCERT-I-50]
faar T for AT @ 81 Wi faemger ¥ arEr
ST 2
12.(1) [NCERT-I-81]
Tear o oitr g forforssdt wfiret =t 21

Toforedr - Tedsirn, <gfer, Ficdera, TR, TEaerd
[NCERT-I-78-81]
fefertt qor - HomE, o, fferedt, sEEr
[NC-1-104,309]
3ife wioon SRYEET w1 T T B
e § Cawraor Iufeud 8iem 21
FHFEAT T T H ARl B 21
[NCERT-I-89, Mod. NEET 2011]
T Sk aTeq I 41 Ga8T IS0 hl SISER W[
FaF ¥ afEfT ®
116. (2)

113. (4)

14. (1)

15. (1)

[NCERT--97]

AT TENER Seoll drell o iesad fgsiest o & awar
21




117. (4) [NC-II-233, 234, NEET/AIPMT-2010]

If a predator is too efficient and over exploits its
prey then the prey might become extinct and
following it, the predator will also become extinct
for lack of food.

+ A wide variety of chemical substances that we
extract from plants on a commercial scale nicotine,
caffeine, quinine strychnine, opium etc) are
produced bythem actually as defences against
grazers and browers.

18. (3) [NC-11-252]
Given diagram is scrub stage.
19. (1) [NCA1-272, 273]
Quality of fuel,Vehicle engines — Bharat stage.
120. (1) [NC-11-220]
25 DC"""J‘, 6. - Grassland
E B '?; "/’ C/\:\ "fl’np‘lnaﬁl; & :l
; 15 [ / Temperate forest
B [ | i A
'—; 107 I‘. | /\_,//, 4’:
é . =1_ , e "'/;.'"rr'y!lilrrnu; forest
E . A j,
I _
; -10 dmc and Alpine tundra
o 50 100 150 200 230 300 350  a00 430
Mean annual precipitation (cm})
Figure 13.1 Biome distribution with respect to amal temperature and precipitation
121. (4) [NCERT-I-255]

Out of the total cost of various ecosystem services
the soil formation accounts for about 50%.
122. (2) [NC-lI-267]
The example of Exsitu - conservation
a. Zoological park
¢. Wild life safari park
d. Botanical garden
123. (2) [NCERT-II-247]
Grass — Grashopper — Frog — Snake
Energy gradually decreases
124. (1) [NCERT-lI-227]

An indivisual may have births and deaths but a
population has birthrates and death rates another
attributes characteristics of a poupulation is sex
ratio. An indivisual is either a male or a female but
a population has sex ratio.

17. (4) [NC-11-233, 234, NEET/AIPMT-2010]

3R qOER ST ) T @ 3K s PR o sifadie
A1 ® a1 B G & R g 2 9w ik 35
e G F I A gl o e 8 eI 9@
FRT & o gl 3 el Rt €1 qot & 7e
T FA F F ferg Fremd wfear + fafv e e
Torepfae =2 < 7

- TEEHE TeE @ e R e ww owe §
e o 98 fFefia o= & (RadE, 9.,
FI, g, s, anfe ) | 3 9redl 8RT 3
BId €1 add § 3 W IRE (I9) A T F
wefafear 1

118. (3)

fean a1 fo o & 2
19. (1)

[NC-II-252]

[NC-II-272, 273]
TEF S VAT, A8 B georl &l UTae- R
w2

120. (1) [NC-I-220]

A A (0c)
'\ o m

30 100 130 200 230 300 350 400 160

sima Afiid Ad ()

for 131 AfiE arowre i @i & = § SEm &

121. (4) [NCERT-I-255]

TSt wiita= |arst &t et anTT o & e gicere
e 1 G ([ TeT) F o' 50 % B

122. (2) [NCAI1-267]
IEFCF G I IECT B
a. 9 3H
c. T e FFN 9reh
d. 99T JUE
123. (2) [NCERT-I-247]
I —> U™ HaF— 9T
Foll AR HeE @ 7|
124. (1) [NCERT-1-227]
ToT S 21

e e @ 0 Wl 3| 98 0 e, T B




125. (@)

126. (3)

127. (4)

128. (3)
(1)
@)
(3)
()
129. (4)

130. (4)

131. (2)

[NCERT-II-271,272]
All are used to control the air pollution.
[NC-lI-271]

Given diagram is scrubber. Scrubber control air
pollution.

[NCERT-II-260]

4 N
Other animal groups
iy _ Mammals
Crustaceans }15117"
Molluscs \ 7 Birds
e e [=
o e 0
Inscets pe 25k B il
i ﬁ ¥ j 4 \
\ el I8 /Reptiles
= “Amphibians

o

Figure 15.1 Representing global blodiversity: proportionate number of
species of major taxa of plants, invertebrates and vertebrates

Lichens

Algae

[NC-11-261]
Plants — 40,000
Amphibians —427
Invertebrates —1,25000
Fishes — 3000
[NC-I-311]

Pectoral girdle bone are two clavicle and two
scapula.
Pelvic girdle = Two coxal bone

[NCERT-1I-45,46]
Statement I

Surgical methods, also called sterilisation are
generally advised for the male/female partner as a
terminal method to prevent any more pregnancies.

Statement Il :

Surgical intervention blocks gamete transport and
there by prevent conception.

[NCERT-II-45]
Statement I:

IUDs are ideal contraceptives for the females who
want to delay pregnancy and/or space children.

Statement Il :

Oral administration of small doses of either
progestogens or progestogens-estrogen
combinations is another contraceptive method used
by the females.

125. (4)

126. (3)

127. (4)

[NCERT-I-271, 272]
T 9 YU & A § AT B B
[NC-I-271]

Tear o ot 1 21 Aot 9 gew & e
# I9GNT e B

[NCERT-I-260]
i [ s - \\‘-‘
&= wfn e e
v -
e - s = 4 e
( J —
== i > .-") g ’WW‘H
[ ury | na
‘W*%T ot stz
T : n HrgadAT
m:?im ’

fary 15,1 Afeas S fafrga = afaffae- SSdes], SYEH] aul gmy i o

128. (3)
(1)
@
3)

@)
129. (4)

130. (4)

131. (2)

T ¥ A HaeE

[NC-I-261]
qreq — 40,000
INGEL — 427
e —1,25000
Tt — 3000
[NCH-311]

3 A o TRYSA 3N & Felfaehel o eIt
B

st Al 2 e IR A FrereR =+ B ®

[NCERT-1-45,46]
Yy -1:
Treafshar fafeat o= Teaeor ff F=9 71 9
AT & T g A 2, R SR Iaer w6
AT TAT 36 S AT & ST H ([P /FNF 9
U ) 39T A6 B
&Y -l
TEAoRaT T TSl # e URae U fear S
2, Feld: U S8 B 2

[NCERT-1-45]

YA -1:
S 3 e F 28 ar g & o & S
HrEdl 2 I 1Y 1UDs 3res iR 21
Sy -1l :
AR F E @A 9 9 UF 3 T AR
GISIECIor ST9aT YIoNe o -Teg o &l dateid 2|




132. (4) [NCERTHI-153] | 132. (4) [NCERTHI-153]
The exaggerated response of the immune system e F Ao e e & ufy yfwer 93 9
to certain antigens present in the environment is R ‘Jﬁéﬂﬂ ;3[ Yol FEd 2
called allergy. 133. (2) [NCERT--324]
133. (2) [NCERT--324] Y- (aﬁ?{cﬂ Flﬁm ¥ v Bt TﬁT) )
The fovea is a thinned-out portion of the retina where et =fte fpare 3 S % i A ;@_
only the cones are densely packed. It is the paint 2 x . =
where the visual acuity (resolution) is the greatest 134. (4) T A BT E [NC-1-96]
134. (4) [NC-1-96]
Statement I: T -1

135.

Anucleotide has three components a nitrogenous base,
a pentose sugar and a phosphate group.

Statement Il :

A nitrogenous base is linked to the OH of 1'C pentose
sugar through a N-glycosidic linkage to form a
nucleoside.

@

Statement |I:

[NC-11-99]

In prokaryotes such as E.coli though they do not have
a defined nucleus the DNA is not scattered throughout
the cell.

Statement Il :

The DNA in nucleoid is organised in large loops held by
proteins.

SECTION-B—(PART-1)

136.

137.

138.

@

Statement I:

[NC-11-99 to 101]

The packaging of chromatin at higher level requires
additional set of proteins that collectively are referred to
as non-histone chromosomal proteins.

Statement Il :

Digestion with DNase did inhibit transformation,
suggesting that the DNA caused the transformation.

(2) [NCERT-II-117]
In regulation of gene by lac operon, repressor bind
with operator .

(4) [NC-1I-103]

Statement I:

Stability as one of the properties of genetic material
was very evident in Griffith transforming principle itself
that heat which killed the bacteria, at least did not
destroy some of the properties of genetic material.

Statement Il :

In fact the presence of thymine at the place of uracil
also confers additional stability to DNA.

135.

U eEIeIEE & A9 gcEh B B U Aggie &R,
U U WA, 3 T HERT 49

YA -l

U AEZoMT &R N - TAESERIEE a7 gRT 9= T
1'C BTEgiierad § Jea ~gfererdIarse STl 2 |

4) [NC-11-99]
YA -1

TrehRared o fF S0 Fiers e e e el fiear
21 38 dEee W DNA T8 Hifarr & =4 herr =1 21
T -l

fFAseE % DNA TR o) ¥ afedd BT 8 1 off T &
T B B

SECTION-B—(PART-1)

136.

137.

138.

)]

YA -1

I 'R W FARCA & daiiT 3 sfoRkad fdm it

sraggea Bl 2| SR arfEe w1 4 W-ReH e

e FEd 2

YA -l

DNase ¥ 99 & 918 ®9+=R0T 9fhar 9= 2 ol 21

399 wee 2 fF DNA & w901 & forw fomier 21

(2) [NCERT-II-117]

20 FIATE ¥ U T U F i AcEiered

F 2N A 9T 3R F Fudr B
[NC-1I-103]

[NC-11-99 to 101]

(4)

Y -1
FaTE Yerd o7 ST 39 U Y9E fRar 21 S
fafty & vrmaRa o & T 81 fores a1 ¥ Sy

g B I 21 AR sate wer 9 o R
e 8 8 g 21

Y -l

areaa # DNA ¥ et ot sire a1 29 3 3 o
iferer =T e 21




139. (4)
One nucleosome = 200 bp
Hence total bp =200 x 100000
Distance between two bp = 3.4 x 10710 metre

The length of B-DNA sample = 3.4 x 10710 x 2 x
107

=6.8 x 1073
=6.8 mm=0.68 cm

[NCERT-1I-209]

Corn borer is controlled by protein encoded by gene
crylAb
141. (2)

[NCAI-99]

140. (2)

[NCERT-II-203]
Sets of primers (small chemically synthesised
oligonucleotides that arecomplementary to the
regions of DNA
142. (3) [NCERT-II-203]
Thermostable DNA polymerase (Tag polymerase)
is isolated from Thermus aquaticus bacteria

143. (1) [NCERT-II-194 ,208,209]
(@) Natural Genetic — Agrobacterium
Engineer
(c) Plasmid — Extra chromosomal
DNA
(d) Alkaline pH — Requiredfor
activation of
Bt Toxin
144. (1) [NCERT-1-210,211]
(@) ELi Lilly — American company
(o) ELi Lilly — Formation of insulin

(c) Pro-Insulin — C- Peptide

(d) Pro-Insulin — Aand B - Peptide

145, (4) [NCERT-11-212, 213]

Transgenic animals may be useful for
(1) Study of normal physiology and development
(2) Study of disease
(3) Producing biological products

146. (2) [NCERT-II-193]
The integration of natural science and organisms
cells, parts there of, and molecular analogues for
products and services

Above given sentence is definition of biotechnology

139. (4)
Teh FARIAT = 200 bp
T8 YK @l bp =200 x 100000
o bp @ AT F T = 3.4 x 10710Hex

B-DNA & 7= & &g = 3.4 x 10710 x 2 x
107

=6.8x 103
=6.8 mm =0.68 cm

[NCERT-II-209]

W@EﬁcrylAbGﬁ?%maﬂgﬁﬁTﬁ‘ﬂﬁ?@f
Fafea & 21

141. (2)

[NC-11-99]

140. (2)

[NCERT-I-203]
0 = O | e T B 1 B 5 ] B3 o751 2 F
71 9 o7 o IR A e 5 B
[NCERT-I-203]
AT DNA WTeiiet 2o Wieiite & I8 el
Y TR oA ¥ FHehrer T on 8ty

142. (3)

T & T 2
143. (1) [NCERT-11-194 ,208,209]
(@) Irmfoeh AR ~  OEEIRGH
ity
(c) TeTHE - TEF & AfaRea
DNA
(d) &< pH — Bt fav = 9fFg
F & fog smaEE
144. (1) [NCERT-1I-210,211]
(a) gell forelt — 3R FEA
(b) weil Toredt — A9 e @ fAs
(c) TR -gfer - C-YwrsE
(d) ure-ggfer - AR B-UwRs
145. (4) [NCERT-1-212, 213]

T v &1 FANT B R e o s
2

(1) | Thfsmrersl 9 faem & aremas &
(2) 99 & FAeAAT B
(3) W& IeE T
146. (2) [NCERT-II-193]

T IR T HASH & o A e g o,
IS 7 38 ST T VT T ol FARCH |
R fear T A StagrenfE & afta 2




147. (4) [NC-11-198)

Statement |I:

Some plasmids may have only one or two copies per
cell whereas others may have 15—100 copies per cell.
Statement Il :

Plasmids and Bacteriophage have the ability to replicate

within bacterial cell indepedent of the control of
chromosomal DNA.

148. (1) [NCERTH-197]

Phosphorus is a constituent of cell membranes,
certain proteins, all nucleic acids and nucleotides,
and is required for all phosphorylation reactions.

149. (4) [NC-1-200 to 203]

X —Nitrogenase enzyme

It is present in prokaryotes and related with
nitrogen metabolism.

150. (4) [NCH-219]

The C, acid OAA is formed in the mesophyll cells.
It then forms other 4-carbon compounds like malic
acid or aspartic acid in mesophyll cells it self, which
are transported to the bundle sheath cells.

SECTION-A—(PART-2)

151. (4) [NC-1222]

During photosynthesis several factors interact and
simultaneously effect photosynthesis usually one
factor is the major cause and limit the rate At any
point the rate will be determined by the factor
available at suboptimal levels

152. (3) [NC-1-218]

The particularly large cells around the vascular
bundles of the C, pathway plants are called bundle
sheath cells, and the leaves which have such
anatomy are said to have ‘Kranz' anatomy. ‘Kranz’
means ‘wreath’ and is a reflection of the arrangement
of cells. The bundle sheath cells may form several
layers around the vascular bundles; they are
characterised by having a large number of
chloroplasts, thick walls impervious to gaseous
exchange and no intercellular spaces. You may like
to cut a section of the leaves of C, plants — maize or
sorghum — to observe the Kranz anatomy and the
distribution of mesophyll cells.

147. (@) [NCI-198]

YA -1

o T 9, TR Sael o 91 A S g A
15 ¥ 100 Yfoafa faerr 21

FY -l :

NS S SHaToS Sia] s #F e o
DNA =101 & wa= &9 3 ufaafy & 9 e v
Bl

148. (1) [NCERT--197]

FEERE U FAAE Breell, @ =i o g
FT W HT TF Teh B

149. (4) [NC-1-200 to 203]

X —ATEgIoTS Grolred
TE WHRdied ¥ I T 213X g8 g
JU=E A G 2

150. (4) [NC--219]

C, ¥ 3wy e Fifte ¥ AT B 2
THE WG T TS IR ¥ I 4 -FEA T
e o Aot 3P ik wenfées and e 2, i
Uelrese HIFR & I 9 €1 qeirese Fifi ¥ a8
C, 3 fafed & oW # e Co, 7w uw
3 —hE 39 o B B |

SECTION-A—(PART-2)

151. (4) [NC-1222]
ERTa HIATIT B SR
- 3 FRE IO T e € aur Wy - 4
RTINSl T e &

+ P U R R FROT BT B o R e
yIa e 2 |

« T o g R AT 97 FRe wfad o E
o I W W SYeR] Y

152. (3) [NCERT-I-218]

C, T W o "eed asa & AW AR O 5%
FIfFT Toirese (S2a ) IR FEemr 7 3K
qferal @wed 21 981, hal ol 9 & Tedl 9l A9,
AT iSRS Fi HaeT U o & ¥ B0 B
e A & -8 JATeSE HISHIA Fl e
T B F, 3 a5 st W ¥ FeRane S
#, zaeht M el e & svEw B # ik T
JHIE T R Bl 3 C, Wel S were
AT SAR o el I G |RT e, A e ameR
Tq AT o6 A% |




153. (4) [NCERT-II-7] | 153. (4) [NCERT-II-7]
(1) Exine — Outer layer (1) 9Eg e —  areg M
(2) Intine —  Innerlayer 2) 3= DA I LCRE o
(3) Intine — Continuous layer (3) 3= A - 499 Bt
4) Intine — Made up of pectin and @) 3= T - IS 3R AT T
cellulose I BT &
154. (4) [NCERT-II-20, 21] | 154. (4) [NCERT-II-20, 21]
(1) Fleshy - Papaya (1) TEEER —  9Ymr
(2) Dry —  Groundnuts (2) TR ~ AT
(3) Parthenocarpic — Seed less (3) I —  der R
155. (1) [NCERT-I-5t0 9] | 155. (1) [NCERT-lI-5to 9]
Middle layers are one of the layer of Wmﬁ%mﬁﬁﬂ;ﬁﬁﬁwqﬁ
microsporangium wall layers 3
156. (3) [NC-1I-173] 156. (3) [NCAI-173]
Red rot of sugarcane and late blight of potato . .
caused by fungi ; by bacteria — black rot of e ¥ TSR I AT A & B B
crucifers; and by viruses —tobacco mosaic, turnip | 457. ) [NCERT-II-186]
mosaic, etc. © .
' SANEEEES ¢ Sifad o 91 399 SouE 9% RgEer
157.(2) [NCERT-lI-186] & o ST B 2
Biopesticides are living organism or their products | 158. (2) [NC-I-105]
which are used for pest control. foar T o AR 3R TS @ AT # 3
158. (2) [NC-I-105]
. , ) , 159. (2) [NCERT-II-149]
Given diagram is meselson and stahl experiment.
159. (2) [NCERT-II-149] —> FIZNIEE T8 SiAg B 2
— Filariasis is vector born disease = FEAITEE ;ﬁ}ﬁm sps & g BT 2
— Filariasis caused by Wuchereria sps N 5o A PRI T 3 g1 S 2
— Filariasis transmitted by female culex mosguito 160. (1) [NC-1-136]
160. (1) [NC-lI-136] T @1 fom wdieReE IR #1 Tfas 999 @i
Givendiagram represents Stabilising type of natural i o @ )
selection 161. (4) [NC-11-130, 139]
161. (4) [NC-1-130, 139] = 3
All given animal are extinct reptiles. ot o = R i g SERL
162. (4) [NCERT4-337,338] | 162. (4) [NCERT--337,338]
All given hormone involved in sugar metabolism fow v ot =FiF Ta & ITEE F WA A R
163. (4) [NC-I-93] | 163. (4) [NC-II-93]
Statement |: YT -1

Closely located genes assorted together and distantly
located genes, due to recombination assorted
independently.

Statement Il :

Many genes were linked to sexes also and called sex-
linked genes.

31 T o S U AT WA 8 e g8 3 9w
S A eI Bl Tae siaege veidig R
YA -l

Igd & i oI & &9 B 21 3t 39 e A T wse
FEAN 2|




164.

165.

166.

167.

168.

169.

4

Statement I:

[NC-192]

In down syndrome palm is broad with characteristic
palm crease.

Statement Il :

In down syndrome and klinefelter syndrome number of
chromosome are same.
@)

Statement |I:

[NC-11-90, 91]

The thalassemia could be due to either mutation or
deletion which ultimately results in reduced rate of
synthesis of one of the globin chains (¢« and  chains)
that make up haemoglobin.

Statement Il :

Due to haemophilia in an affected individual a simple
cut will result in non-stop bleeding.
4

Statement I:

[NC-11-88]

In addition to recombination, mutation is another
phenomenon that leads to variation in DNA.
Statement Il :

UV radiation can cause mutation in organisms itis a
mutagen.
@)

Statement I:

[NC-II-87, 88]

Deletions and insertions of base pairs of DNA, causes
frame - shift mutations.

Statement Il :

In honey bee the numebr of chromosome in queen and
worker are same.
@)

Statement I:

[NC-1I-83 to 86]

Further investigation by other scientist led to the
conclusion that the X-body of henking was in fact a
chromosome and that is why it was given the name X-
chromosome.
Statement Il :
Today genetic maps are extensively used as a starting
pointin the sequencing of whole genomes as was done
in the case of the human genome sequencing project,
describe later.
4
Statement I:
Platelets also called thrombocytes are cell fragments

[NCERT--280]

produced from megakaryocytes.
Statement |l :
Platelets are involved in the coagulation of blood.

164.

165.

166.

167.

168.

169.

@
=Y -1
313 g F <) =9eh ¥ s eretreforen e it Si 2
Y -1l :
35 g 3 Ferghoet oM ¥ IuEE A wEr
GHH 29T 2
G
Sy -1:
JerdiEET R a1 O STRads srar fAeT & aRem
&Y I~ B 2 | Foret S a9 g wefee
ot oo e (aud B ) 0 GIATOT S H FA AT S
2
Y -l :
EAIferar & FRoT 3Ed it & IO Y o S
e & o T w1 e g & A8 B |
@
Y -1
e & faRea Iealiade ua 8@ 9o 31 S DNA
¥ fafgear o 21
wY -l
UV faferor el § IeaRade 9er ¢ 29 71 3 SwaRadeH
I
@)
Y -1:
DNA® &R g#l & e - de & %9 e Ieaikan
Fd B
YT -1l
el F UrEE) T g T K i ¥ o wHe
Bl 21
@
%Y -1:
I A 9 3T MuEE & g8 e e
2R T X T AT W R & A7 g4 39 X- o
8T 41|
YT -1l :
3MTSTehel R T o e o FeiiRor ¥ sratires e
& TR A o o @ 21 O & we A A S
SFTHAOT TRATSHT 3 ot aftfe féRar T
4

Sy -1

ieeicd I grerarEed o e w, Sk s Ramge

¥ I gT FHINEH F TFS B

Y -l

wevied 9 & Thed ¥ aiEfer 21

[NC-192]

[NC-11-90, 91]

[NC-11-88]

[NC-11-87, 88]

[NC-11-83 to 86]

[NCERT-1-280]




170. (1) [NCERTA-105,283,284]

Both (A) and (R) are true but (R) is not the correct

explanation of (A)
[NCERT-I-233]

1
The process of oxidative phosphorylation takes
place in Mitochondria

171.

172. (4) [NCERT-231]

During this process, two molecules of NADH are
produced from the metabolism of two molecules of
pyruvic acid (produced from one glucose molecule
during glycolysis). The acetyl CoA then enters a
cyclic pathway, tricarboxylic acid cycle, more
commonly called as Krebs’ cycle after the scientist
Hans Krebs who first elucidated it.

[NC-I-262, 263]
Nuclectidase

173. (2)

Nucleic mids%ﬁkmieoﬁd@s

Nucleosidase

Nucleosides Sugar +Bases

Nucleases = Pancreatic juice
Nucleotidases Nucleosidase = Intestinal Juice
X,Y=7-8
174. (2) [NCERT-1-272]
Intissue P_, and P, are 40 mmHg and 45 mmHg
respectively.
175. (2) [NC-I-261, 262]
Starch are partially digested by salivary amylase
in mouth at pH 6.8 and then reach the stomach.
+ Saliva contain no lipase so at digestion are not
takes place in mouth so fat are totally undigested
reach the stomach.
+ Cellulose is not digested in human beings.
+ No digestion takes place in mouth of protein so
protein will reached totally undigested in stomach.
+ Hence fat, cellulose, protein reach totally
undigested in stomach.

176. (1) [NCERT-I-112]

Table 6.1: The Codons for the Various Amino Acids

First Third
position posilion
Second position
U T A G

UUU Phe | UCU Ser | CAU Tyr [UGU Cys |U
U ULC Phe | UCC Ser | LAC Tyr |UGC Cys |C
| UUA Leu | UCA Ser | UAA Stop |UGA Stop A
UUG Leu | UCG Ser | LAG Stop | UGG Trp |G
CUU Leu | CCU Pro | CAU His |CGU Arg |U
c CUC Leu CCC Pro | CAC His |CGC Arg |C
" | CUA Leu | CCA Pro | CAA Gin |CGA Arg (A
CUG lLeu | CCG Pro | CAG Gln |CGG Arg |G
AUU lle ACU Thr | AAU Asn |AGU Ser |U
A AUC Tle ACC Thr | AAC Asn |AGC Ser |C
AUA Tle ACA Thr | AAA Lys (AGA Arg |a
AUG Met | ACG Thr | AAG Lys [AGG Arg |G
GUU Val | GCU Ala | GAU Asp |GGU Gly U
G GUC Val | GCC Ala | GAC Asp |GGC Gly |C
"l GUA Val | GCA Ala | GAA Glu |GGA Gly |a
GUG Vval GCG Ala | GAG Glu |GGG Gly |G

170.

171.

172.

173.

174.

175.

176.

(1) [NCERT-I-105,283,284]
(A) 3R (R) Y &8I & ofehT (R) 9T =R 81 &
(A) =T

(1) [NCERT--233]
bRfea FrRReTmT Ft wikar MEcinigar 3
B 2

4) [NCERT-231]
ofbee TS -§ TATgeRfafad St g Ik o ey

2) [NC-1-262, 263]

fFAvE - A @
Fperdterstn - sA oA

R V=78
2) [NCERT-1-272]
Fa% ¥ pO, 3R pCO, FA: 40 mmHg 3R 45 mmHg
2 2
(2) [NC-1-261, 262]
9 ¥ dRY vHge i €9 9 6.8 pH W TR
B 81 3R 3°S 9 ARG A Uge 2
AR # AT T B 81 el a6 # e 1 9
5T 2eT 2 gaferr g8 qoiEy ¥ SRl Sl e
¥ Tl B UereS A A A v 2
g WA T U AEL BT 81 a7 gatere g8 o
M ¥ U ¥ S TEe 2
37 T8 TRR a4, HelT, 9Ie qUiey | ST
T BT IO
(1) [NCERT-1-112]
arfereRt 6.1 fafa= sfl 3v1 o feu wae
werm feeifa A fefa
l U C * A G l
UUU Phe | UCU Ser | UAU Tyr |UGU Cys |U
u | PUC Phe | UCC Ser | UAC Tyr | UGC Cys [C
UUA Leu | UCA Ser | UAA Stop | UGA Stop |A
UUG Leu | UCG Ser | VAG Stop| UGG Trp |G
CUU Leu | CCU Pro | CAU His |CGU Arg U
c CUC Leu | CCC Pro | CAC His |CGC Arg |C
“| CUA Leu | CCA Pro | CAA GIn [CGA Arg |A
CUG Leu | CCG Pro | CAG Gin |CGG Arg |G
AUU Ile ACU Thr | AAU Asn | AGU Ser U
AUC lle ACC Thr | AAC Asn | AGC Ser |C
Alaua ne | aca Thr | AAA Lys |AcA arg |a
AUG Met | ACG Thr | AAG Lys |AGG Arg |
GUU Val GCU Ala | GAU Asp |GGU Gly U
G GUC Vval GCC Ala | GAC Asp |GGC Gly |C
GUA Val GCA Ala | GAA Glu |GGA Gly |a
GUG Val GCG Ala | GAG Glu |GGG Gy |G




77 @)

178. (4)

179. (3)

180. (4)

181.(2)

182. (2)

183. (3)

184. (3)

185. (1)

[NCERT-II-38]
Statement I:
The mammary glands of the female undergo
differentiation during pregnancy and starts producing
milk towards the end of pregnancy by the process
called lactation.
Statement |l :
The milk produced during the initial few days of
lactation is called colostrum.
[NCERT--282]
Statement I:
Lymph is also an important carrier for nutrients and
Hormones.
Statement Il :
Fats are absorbed through lymph in the lacteals
present in the Intestinal villi.
[NC-248]
The ‘bakane’ (foolish seedling) a disease of rice
seedlings, was caused by a fungal pathogen
Gibberalla fujikuroi. E. Kurosawa reported the
appearance of symptoms of the disease in
uninfected rice seedlings when they were treated
with sterile filtrates of the fungus. The active
substances were later identified as gibberellic acid.
[NC-11-44]
In human male reproductive system, secretion of
Paired seminal vesicle, a prostate, paired
bulbourethral gland constitute the seminal plasma.
[NC-1-181 to 183]
Statement |:
The process of plasmolysis is usually reversible.
Statement Il :
Imbibition is also diffusion since water movement is
along a concentration gradient.
[NCERT--186]
The hyphae have a very large surface area that
absorb mineral ions and water from the soil from a
much larger volume of soil that perhaps a root
cannot do.
[NC-1-187]
Transpiration is the evaporative loss of water by
plants. It occurs mainly through the stomata in the
leaves. Besides the loss of water vapour in
transpiration, exchange of oxygen and carbaon
dioxide in the leaf also occurs through pores called
stomata.
[NC-1-168]
Recombination between homologous
chromosomes is completed by the end of
pachytene, leaving the chromosomes linked at the
sites of crossing over.
[NCERT-I-169]
Splitting of centromere = meiosis Il

177. (4)

178. (4)

179. (3)

180. (4)

181.(2)

182. (2)

183. (3)

184. (3)

185. (1)

[NCERT-1-38]
YA -1
= T w4 afeEl F | & SR $E TR F
TEAT AT B A G & 3T T 399 Y I
B AT 81 39 IR S greman FEd 2
Y -l
A & JREE g B4 9% @ gy Feae
21 3 FlAgH FEd 2|
[NCERT--282]
YA -1
T ¥ U WEeaa Yl a8 & W9 T HR BEH
& forg
@Y -1l
3 3K 7 IuRyT dfdegd g9 & @b 37
T T 2|
[NC-248]
AR (forer GefeRT) o gty (AERRE) 9
9 2 S WSE A e FARg & 8}
I 21 $. FhEEr (SEE S ) T SRR U
Tier ¥ AT AT Y AT, T I FAF & SAEA
et (frege) & 9 ST=nRa fram afra 73 9
T o1E § SR 3R & €T H g5
[NC-I-44]
HG R S T3 | AR ST S T O S
I, O GECC, U WISl e AT A & Frau
¥ T B

[NC-1-181 to 183]
A -1
ArsEfefdE ) gelar Seheiig 21 2
Y -l

ST S v fSERoT 2 6N ool T I A
YUEE] & FAFEE BT 2

[NCERT--186]
AGFNEA # FHah - F ITAT &
3 firedt @ ot o @i it sEifT e @

[NCERT--187]
e ¥ FeA F AT FH T A JFEM aSeEoT
e 2

[NC-1-168]

TEde AT & Ao =R ¥ B §1

[NCERT--169]
A fo7g T STORT BT = e e I




SECTION-B—PART-2)

SECTION-B—(PART-2)

186. (1)

187. (4)

188. (2)

189. (4)

190. (3)

191. (2)

192. (1)

193. (3)

[NC-I-168]
In oocytes of some vertebrates, diplotene can last
for months or years.
[NC-I-148]
Starch, Glycogen, Cellulose — glucose
Inulin — Fructose
Sucrose, lactose, maltose — Diasaccharide
Chitin — N-acetyl glucosamine
[NCERT--132, 33]
While each of the membranous organelles is distinct
in terms of its structure and function, many of these
are considered together as an endomembrane
system because their functions are coordinated.
The endomembrane system include endoplasmic
reticulum (ER), golgi complex, lysosomes and
vacuoles. Since the functions of the mitochondria,
chloroplast and peroxisomes are not coordinated
with the above components, these are not
considered as part of the endomembrane system.
[NC-1-159]
NAD = Nicotinamide adenine dinucleotide
FAD, NAD, NADP are coenzyme
Coenzyme is a Type of cofactor
NAD, FAD, NADP — vitamin containing coenzyme
[NC-I-135to 138]

Mature erythrocytes contain no any cell or-
ganelles like mitochondria, nucleus hence DNA
are not present.

Seive tube cells are ennucleated cell but other
cell organelles are present like mitochondria, chlo-
roplast. Mitochondria and chloroplast have it's own
DNA besides nucleus.

[NC-1-244]
Percentage relative growth rate
AtA_OAO _ 151—010 N g
A = Surface area initial
A, = Surface area at time t
[NCERT-II-16]

Generally after fertilisation the sepals, petals and
stamens of the flower wither and fall off.

[NCERT-I-94 to 98]

In roots, the protoxylem lies towards periphery and
metaxylem lies towards the centre. Such
arrangement of primary xylem is called exarch.

Secondary growth — Dicot stem, Dicot root

186. (1) [NC-I-168]
FHF qECH & FAECH A [TREA o AEF ar
WA T T gt 2 |

187. (4) [NC-I-148]
T, TSI, SeleioT— TeIshiol
- Heele

I, AT, AT TSAHYES
- N-GhieTeRsshiadT
188. (2) [NCERT-1-132, 33]
31 fafoeenr o3 & ford wel
(1) 39 BT ¥ =941 B 2 e =8 st 2
(3) I S BT ? FASA STiorhT, sl Hiqere,
FLEERT 3% WU &
189. (4) [NC-I-159]
NAD = Nicotinamide adenine dinucleotide
FAD, NAD, NADP shig=sTg &
FITEH U o8 & Fihded 8
NAD, FAD, NADP — feTii W& drel hewigd
[NC-I-135 to 138]
aferea ghdrErge ¥ T safeE B 21 3R
DNA f} 78T qrT <11 = |
— 19 TgF FIET § Fewan A9 G G 2| AR
ARV, S qrET e 2

190. (3)

—  WIECIHIVEAl, T ¥ ek DNATET ST 2 1
191. (2) [NC-I-244]
el afe = o e
Ar-As 15-10
= 100:
A 0 50%

A =YY 998 Sahd
A =99 TR HdE &

192. (1) [NCERT-I-16]
;. AR & 9 U @ 9 9, TEE 9K
R E LA A AT 21
193. (3) [NCERT--94 to 98]
UFAISTA WS = W ) 9 6 9§ S,
ey HAlees
fedrae afe =& 2 21
ST 98 =Sew & g e 2 4 6
g HAlews:
fedta afg =t 21

fediordi w2, RdeEg 7 = fEdias gfe e 21




194. (3)

195.(2)

196. (2)
4>
—

—

197. (3)

198. (4)

199. (1)

[NCERT-142]

On the other extreme, is the type wherein the diploid
sporophyte is the dominant, photosynthetic,
independent phase of the plant. The gametophytic
phase is represented by the single to few-celled
haploid gametophyte. This kind of life cycle is
termed as diplontic. An alga, Fucus sp., represents
this pattern. In addition, all seed bearing plants i.e.,
gymnosperms and angiosperms, follow this pattern
with some variations, wherein, the gametophytic
phase is few to multi-celled.

[NCERT-1-42]

Sporophytic generation is represented cnly by the
one-celled zygote. There are no free-living
sporophytes. Meiosis in the zygote results in the
formation of haploid spores. The haploid spores
divide mitotically and form the gametophyte. The
dominant, photosynthetic phase in such plants is
the free-living gametophyte. This kind of life cycle
is termed as haplontic.
[NCERT-1-249, 250]
ABA act as an antagcenistics to GA
ABA is also called stress hormone
ABA stimulates the closure of stomata
[NCERTH-27]
BSE is a type of diseased caused by prions
BSE = Bovine spongiform encephalopathy
[NCERT--36 to 41]
Pollen grain — Gymnosperm, Angiosperm
[NC-I-75]

Statement I:

A sterile stamens is called staminode

Statement Il :

When stamens are attached to the petals, they are
called epipetalous as in brinjal.

200. (4)

[NCH-163]

We know that one cell cycle complete 24 hours or
one day hence in 10 day 10 cell cycle complete
Number of human cell = 2"

= 210

=1024

194. 3)

195.(2)

196. (2)

197. (3)

198. (4)

199.(1)

[NCERT-I42]

T U I o B, 7Ef ey ¥ o S
g, TR IS, o BT || gIHehleE U
FIFIT 371 T2 FEF I AT B 21 Shee -aeh
I 79 e ) s #ed 21 o S, gEe
o9, 34 et o yiafAfteT Fw @ |y 9, e
Sttt are, fopmireat & ofordrert 2é) ded & sigaT
g B 2

[NCERT-142]

RS GIET ¥ haet Yo FIFART a1 oS e
% 39 IS M 919 FRIFET T8 BT B | R
¥ fsifew fasiom siar 2 s Sverge S o 8
T IFR & g 9% & F8d 8 SRleE
[NCERT-1-249, 250]
ABA GA % fore faltus & e FM & B
ABA Y T BRI ¥ FEd B
ABATY & & B9 &I YIedisd el 1
[NCERT--27]
BSE v J&hR il oot & & 7 4o & =it 21

BSE = Bovine spongiform encephalopathy

[NCERT--36 to 41]
TarTeRT = forierd, ofeeaerd
[NC-1-75]

HY -1

UE T AR R FE 2

F - :
aﬁ%ﬂ?ﬂ%%@m%lmsﬁwm%@%

200. (4)

[NC-1-163]

B M 2 o w1y i o e e 24 9ue s
v o o 7O = & o 1073 F 10 ifEre o 99
BRI 3T AW IR i e = 20

- 210

=1024




